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Sl (hs QsTLjuflengulst QuUITSleugeuDd a, a+d, a+2d,
a+3d,....
@miE a=6 womib d=25
genGey, sall(hs QaMLfjeauflens 6, (6+5), 6+2(5), 6+3(5),....
2,5C6, CHemeumen Gal_ (b8 CsTLfeuflens 6, 11, 16, 21,....
ol (6% QFmLfeuflengulen CQUTSI6Ig 6D
t, =a+(n-1)d

=6+ (n-1) (6) =6+5n-5=5n+1,n=1, 2, 3,.....

1 1 .3
83) 24,231,225,211,...&6&@ &gl (B QeTLy euflemsuisd 3

CTEITLIG] THHMETWITEUG] 2 MILIL] Y (&LD?
ellen&sLomer allenL:

1 1 ..3
QaTRéaILL L QSTL] euflend 24,231,225,2 IZ,....

1 -3
@mG, a=24,d= 231—2427 LOHOID B 2 My | =
3
n &g Sl ks QML  auflengullsst 2 mILiSerest
6T6UOT60TT SH61 &
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@0 Sl (s QML euflmsus cpsiiml 2 MILLSET (PG

a-d, a, a+d

61601Geu (a-d)+a+(a+d)=6 = 3a=6 = a=2

Gugyitd, (a-d) (a) (a+d) =-120

= a(a2 —dz) =-120

= 24-d?)=-120= 4-d* =60

d> =64=d =18

d = 8 eT6vileD, SIHS cLP6ITM)I 6T6vMG6T -6, 2, 10

d = -8 etevfled, QIHG cpetim) eteworgen 10, 2, -6

87)e@® &L@s OsrLjaflosul  AGE5ESS WD
2 muyseflsr  sabGHL 18  wHMID  cueymiisefler

& emGaMer sa@HeL 140 erafled, JIDELPETM 6T6EH0TSMENS
G600 5.

aflens&Lomer allenL:
26 sl 65 Osmjaflmeuis AGSHGSS weml aamsd
a-d, a, a+d 6160615, 61651G6Y, For(HFH6L
(a-d) + (a) + (a+d) = 18
= 3a=18 = a=6
Cuogyd, (a-d)” + a’ + (a+d)*= 140
= a’-2ad + d°+a’+a’#* 2ad + d* = 140
= 3a’+2d° = 140
— 3(36) + 2d* = 140
— 2d°=140-180 = 2d°=32 = d =14
d =4, amIbCung Sibhs ceTml eeuset 2, 6, 10
d = -4, aiemIbCUTE SiHS cpeiim) eTemisen 10, 6, 2
88)a, b, ¢ gHlwer FLEH QFTLT euflemsuiled @ @LiLTl6or
L, i, i e @@ FalBH CFTLFauflem&uiled
bc ca ab
Q&G eTer HMI6YS.
aflens&Lomer allenL:
AmE a, b, c @B Fal(®s QAsTL] auflns.

a b c

cTeoTGel, s > S Sl 6ot GLogyLb, sl 0
abc” abc” abc

Qs L Feuflens
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93)1, 4, 16,....,4096 eeim QUMBSHESGS QFHTLHEL 2 6iTerm

2 MIUL&erfl6ir 676501650715 6018 6MILIG & IT650T 5.

ellerssLomer ailenL:

QarrésUULLg a=1womiwb r=4

neugl 2 miti 4096

t, = 4096

ar™' = 4096

1x4™ = 4096 = 4" =4°= n-1=6=>n=7

61601160 QUBHEGSHASTLIFl6L 7 2 MILILGET 2 6.

94)4005@©W 6005@GWL QeLCw 9s6d WHullsii euGUELD

AT EHG| 616001861160 Fo(BHEL &HIT6HO18.
eller&sLomer ailenL:
a=405 d=9, |1=59%

nz(l_—ajH =(Mj+1:@+1:21+1
d 9 9

n=22

S =%(a +1) =%(405+594)= 11x999  =10989

n

95)3+5+7+9+ 6T Fal GHASTLHl6r 15 2 miiysefleir

o (5 HMEVE &IT6EVT 5.
aflenssomer aflenL

S, = %[261 +(n=1)d]

Sis = %[2><3+(15—1)2] = %[6+28]=%x34= 255
S15 =255

96) \/5,2,2«/5,4, ..... ,16? eteiim Qs MTLfleL eTEHS M6 2 MILIL|S 6T
2 _6IT6IT6OT.

allenssomen ailenL

a=\/5,r= i:\/E,tn=16,n=’?
V2

ty=ar"
ar"' =t,

= (V2)V2f " =16 =(2) =16 =277 =2
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4. \5.8.0. bHmMID 1B.QuT.el.

Q@ 61600606001 LOI&E FHWITES 6UGHGSLD 6T6U0H6T  H6)1C1626T0T600T60T
QIGSHGE eTelILBLD. 61.8M 15601 uGSHsen 1, 3, 5 woHmd 15
@@ 61601 LOMADTE  TETIEMET  (LP(LPEMLOWITS  UGESEMSG|  6TevNed
(WPHEMGIL 616501 LOMCMITE 6T6U0T608T60T LOL MIGTGLD.

e1.em 1,2, 3,4,6,8, 12 pdmILD 24 616510 6T6u0T&H6IT 24681 DL RISTGLD.
@@ 616001 QUetoi(h S6LEVG UFMEG CLOMUL L 6TEIOIGHEN6T CILITSI6UTS
QUG SHSHCLOWIMEITED  S6UCaU6TI Sieual(h 6TeuIHanesr GUTS UGS
2ABGL0.

B.Qumr.eu - BBUOAUE, QU QIEGSHH

H— 18uQu@d, C —Qung), F - a1@s 8
= 36 mmid 48 e165Tm Qb cTetuIGHN6T 61(hE SIS QBMeTGeoULD.
& 36 &1 u@SHHS6T 1,2, 3,4, 6,9,12, 18, 36
= 48 a1 euGSHHS6T 1, 2, 3, 4, 6, 8, 12, 16, 24, 48

6T 6501 & 61T
i.e. 36 9,112,18, 36

48 ,6,18,|112,(16, 24, 48
QuIglUTen 6UGS St GBu il

BdiTeng)l. sismex {1, 2, 3, 4,
6, 12}

QGSHHGaMNL QuUITgHleurerded WSICAURWIg 12.
stea1Ger, 36 LMmMILD 4861 LB.QUIT.6u 12 gy @GLb.

= AGCs wWemamwlll UWaTUGSS QETHSESSLILLL 616001 FMILST
6T6OT6UOIT  @)6LEMEVULIT  6T60T  SHMEUOTEVMLD.  6JCleuTealleL  EFMTUSIT
eTevutsuin&aflesr LB.QuUT.6a 1.

T AIaud LG NSMHEG CHULL eaugsans B.QuT.eu smsoor
QG PEOMSET 2_6iTereat.

1. (N&BEAPW  TETHERHEG ULWGTLEGSGID
Wmm) QFBTESSLLLL cTemsnest alifleng (LPenmUlled LGS
QUITGIEUTES 6T6TTTEn6TTS QSTETI(H 6)ESHS6V.

= g | @ QeuT@  sTEumEILD  eUflenFWITE SIS S)
@emLuied (,) @MuiLeyjLb.
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er.&m. - 2 : 18.Qumeu (1748, 988)

988) 1748
988

7607988
760

228) 760
684

76)228
228

-0 (1748, 988)-so1 1B.Qum.eu = 76

=  @penig@ CmuL L erenseafletr W5.QAUT.6u: QsTHSSLILL L
CTEUSH6ET @\ 6TOUSEh&E LB.QUT.6l. &meins. L6 Senl&ELb
B.QUIT.eu-e L 60T cLHGTMTeuS) eTstmenm@ LB.QuT.eu smens. QCs
Cumem) SemL& LB.QUT.6u HenLEGLD ueny QFIIS.

B&8m QuUITE) L MG
IB&8m Qumrg WLLKIEG: QUanh LG NSNS GHULL
sigugaNest B.H.0 eTemeuGusmIid Q@b  sTsvarselsst &S AMILI
Qurgl eSS wEW. 15 wHMID 20 aa8Im  @H: sTEEmSsman
106815 QsmenGeurld.
15-601 LOLMIGS 6T 15, 30, 45,60 .....

20-651 LOLMIGS6N 20, 40, 60 80....
QeumNne QenLCuwl SFADIL QUITSI DL T
15 wHmId 20-651 5.8..0 60
Quenhy S SISHG CMULL  eeageferr  LS.&.D
S&HSHTEDID (LPEMMUTCD HITEUITEVITLD.

& puig |: QEMTHSSLLLL. 6T60015H606M LGNS SHTI0N&SETE G S.

= ug Il smeargg sryasasadr SIGSHVID  HSLCAUFWS
GCoiey QFlgh SieumemmLl QU SSeTed WB.QUT.e HLGELD.
er.&m. 1176, 1764
1176 = 2°x3x7°
1764 = 2°x3°x7°
(1176, 1764)si1 1B.8.10 = 2°x3%x7?

& ggusmen  HML Lo (G  NfsH  euflwgulled 1S
Gou6tr(pLD.

T GMDHSULEFD QU@ S ErHE CLTSHIEUTET  6UGSHS S
Q&G um) UGSHHIS QHTEIGCL ClF6Lev GeuesuEBLD.
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e.&m. = 5.Qum.e (ﬁ,g,%j = 15.Qum.e (49,7,14j
18 24 63 188 9
5. @ umen (49,7,14) 7
5.8.10(18,8,9) 72

T @ e dq, da, ds,... 960 UGSHSTEL S SiemesTHSHeyild
T ubhsTeL SihG eTeustnest Gumgleumer ellgeud. LCM (dq, da,
ds,....)K+r
QmIGs K eteoiLg (b Quisd et6gor
OI&EANMNIL eTetuTemennd &evollg LT &% K = TeT6orll 1NFHUTL6LD.
NsEsMW / Quilw ‘N’ QevsEs estoenetas  Smewor K 6dT
wllemu Seior(hLilg.

= Qn: aqhg HsFHINOW 4 Qev&s erstmenenr, 15, 20, 24, 30 60
IGSS LS elQeUT(H (LPMMWD 7 6U(HLD.

& Qn: ¢hg WNSFANIW  6ujsHs etamenen 12, 15, 18, 20
BHuNerd 6u@GSSLD.

15.8.10 - rhHf -1l

& (I eTguotemeal dq, dp, ds,..... 0 GES BHS6T (MG
rq, 2, r3,.... UGS
di—r=dy—r=dai=r3 =.... = r 6160im QBSHGSCLOWITEDITEL,
SlhG CILIMGI6UT6T 66001
LCM (d1, dz, d3,....) K-r

T Qn: ahs WBsUAUilW 3 Qevss etcuensmr 4, 5, 6, 7 60
IGSS WBHs6 (WemmGw 3, 4, 5, 6 eu(mHLb.

= ahg OsUQUflw  etetutesoimed D4, Dy, Ds...6T60Im  6T6GOIGHEMENT
GHSTL LS&eT (WemMGW rq, Iy, I3,..... QUBLD.

Sihg et6tor = B.Qum.eu (Dy-ry, Dy - ry, D3 - 13,.....)

T Qn: anhg WBsUQUlw eemsmmmed 514, 615, 719’ &8 QUGS
B&s61 (WwemmGw 4, 3, 5 eu(mLd.

= ahg WOSLQUflw estoswommed D4, Dy, Dj 6T60Tm  6T6TOIGHEMENT
GHBMTL Cr & eu(pLD.
3ihg etevn = 8.QuT.en {(D1~Dy), (D~Ds)}

& Y eteoimed Quflul eTedutenaNedl (B SMIL eTeivIEn6TIS SHLNSES
Geuegor(HLb.
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3) @reniy erevmsefletr 5.Qumeu (HCF) womib 5.8.0 (LCM)

SpHwemey (WemmGw 13, 1989 ereirm) 2 emengl. HL R
ereoorevofletr &L 117 ereflleb LHAMT(D eTevoTevoiadn LOSILILY
&IT 6007

A) 121 B)131 C) 221 D) 231
allenssLomen ailenL

xxy=18810 (X,y)*x B.Qures (x,Yy)
117 x y = 1989 x 13
_ 1989x%3

=17x13=221 elénL: 221

4) Qm QeucuGeum erevarsefleir (5.Qumen. wLOHMID 15.8.0.)
sflwmer QLY
) BUQuEs.QuT.eu. = B&AOM.QUT.LD
1) BrQu@.Qum.ey. SIBFAmI.QUIT.LO

) B&OMQuILy SIBUQLIE.QuT.6u.

V) B&8m.Qumd >WBUEL,.QuT.eu.

A)l B) Il cym D) IV

afler&somen allemL

SIMETSHG|  CTEOHEHLD  FOWLTS  QBHSTEL - 1BFHM.QuUTD =
BUQum.QuIT.6u

SIEENHF] 6TONSHEHD FLOLMEH @6LVMDD QBHSHTL SIGTEUS)
gEHTeUG| @@ 66 Caumnsd QphgTed, LCM > HCF

faGal aTEISELEE WAL = 18.QuT.el

A) QeueuGeumi ersturgefsst QUTEH  UGSHSaNL LHGLQLIFIW
QAGSHEH SieQeusTmSeler UL QUTH UGSHE % GLD

B) @wm eausefstt BUQU@G.QuTen. 1 6Teafled  oisuiem
ETEUUISHEHLD LISIT 6T600T&H6NT 6T6aTLILI(HLD

C) QeueuGeouml etevurseilsst  QUTE L MRIGSeMeL  OSFHMDIL
LLRIG SNeuQeusngafsit BEFHM QUG OLHIG BGSLD

D) @@ eauseNet QU@HSSMHLEET SeumMistt WBUAU@E QuIT.6u.
Lomid  WBEAM  Qumw.  YHweuHNer QLIHEHDHLVEDISHEGE
FLOLDM@GLD.

afler&smen aflemL

15.8.0
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ellen&sLomer aflsnL

@en(y eT6inigHeT = 4a & 3a

8.8.10 =180

BQumen=H=a

180
12
&AM 616501 = 3x15 = 45

&H5 G alfl - Coialled QgL Caleviqul (LPmM

180
dax3a=180xa = a=E=15

4ax3a=180xa =g= 15

3x15 =45
he WesE HPw eufsEs  estueneoar 8, 9 LHMILD

BHUNCLELTOED UG ESLD.
a) 64 b) 81 c)72 d) 144
allenssomen ailenL

2|8,9,12

214,9, 6

312,9, 3

2,3, 1

18810 = 2°x 3°

Qurgleursa stegar = 2°x 3°x K — @

Deuiss eevvienins k = 2 9486 @558 Coustui(pid.
M= 2°x3°x2 =8 x 9 x 2 = 144

&H5 G alfl - Coialled QgL Caleviqul (LPmM

218.9.12
2149, 6
32,8, 3

2,3, 1
2x2x2x3x3x2 = 144

0.02, 0.03 wmmitb 0.04¢i1 L5.8..0 WHMID B.QUIT.6u
a) 2/25 & 1/25 b) 3/25 & 1/100

c) 2/25 & 1/50 d) 1/25 & 2/25
aflenssomer aflenL

2 1 0.03 3 3 - 0.04 4 1

002= —=—-: = - —-_— = =

100 50 100 100 100 25
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8.8.10 =315
Qugleume eTevor = 315xk-2
k=31; 315x31-2 = 9763
12)ahs OSLQURIW  eTeioiemonmed 260, 720 wHmid 1410’y

QUGS SmeaGHeud 7 BHWITS eu(HLD.
a) 17 b) 19 c) 23 d) 27
eflengaomen ailenL

1B.Qum.eu euemsd - |
260-7 = 253
720-7 =713
1410-7 = 1403

71371403
713
690) 713
690
237680
690
0

233253
253

0 ellemL = 23
13)6ahs WL Quiflw eTevomsooimed 152, 277 wHMID 4278 UGSHSHT6L

G EHIDd Gy B au(bHLD?
a)17 b) 19 c) 25 d) 27
allen&somen aflemL

18.Qum.el. euems - Il

B.Qum.en. (277-152, 427-277)=18.Qum.eu. (125, 150)=25

14)A, B, C cpsiim Guj 6@ eulLLO umemgulled Gy
QLBHOBHEI, @Gy CHIsHeL QASTLIESLNS seB&emmery. A
@@ &HM (WIesEs 1 1/2 Kb hsEnpn, B @ &OHMm (Wn&s 2

HLOLRsEpD, Cm &mHml (Weds 1 1/3 KDL RsEHD dHSSI%
Qamendleimety.  ceU@BL  SICH QLSHHEG SH@HLU  QubHS)
FHH&E GMDHE LULFLD eTeledene] GBI o @GLD?
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B.Qurm.eu= A@“gqmmgi,@gum QUITGIEUTET 6T(PSHS], GEMDHSLLF
IG5HS.

18) L 3 2 4 1 8w
369 27

A) L B) 10 c) 20 D) sigieyLBlsbemev
54 27 3
aflenssLomer allenL:

.80 (1,5,2,4) 20

afenL: 20

C8.0umer (3,69,27) 3 3

19)oym  We&eT eBGCFy (PHOL  (UPLPHIGSH 6.  LT6dT6ury
SmeuseT (pemmGuw 2, 4, 6, 8, 10 wOHMID 12 N6y &HEH5HS

@@ (P (PLPHRIGHsiTmen eteoiled 30 HIAILMiseriled 618 s6ment
(POD M LETNBEHD @ CFJ (LPLORIGS6Tmen?

A) 15 B) 16 C) 3600 D)4

aflen&sLomen allenL:

202,4,6,8,10,12
201,2,3,4, 5 6
1,1,3,2
1,1,1,2

o nfn

3 . 3
, 1

30
B.8.10=120a1=2 Hi= ?4-1:16 ellemL: 16

20)1657 wHmId 2037HHW  TENHMET UGHGWD Curg OIS

wWeomGuwl 6 OHMI 5 HHAHTD WS QUi sTesor
A) 123 B) 127 C) 235 D) 305
allerssLomen ailenL:

1B.Qum.et (Wwenm-1
B8.Qum.eu (1657-6, 2037-5)
B.Qum.er (1651, 2032)

1651 ) 2032
1651
381) 1651
1524
127 ) 381
381

0 BQumes =127
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253)713
506
207)253
207
46207
184
23)46
46
231403 T
1403
0

25)@ueini(y srsvargeMedr LB.CLLeu 15 LMHMID UFH6sT QLB SSHMHLICV6ST

5400, @msLIGLITEL 6THGHemen GEITlq 6TEUIG6T 2_6iT6r6ol.

a)2 b) 3 c)4 d)5

ellerssLomer ailenL:

15x x 15y = 5400

5400

225 \/

EMUSIT 6T6H0T&6NT

1%x24 v/ = 2x12 = 3x8 v = 4x6 2 Gamg et

26)chy D&E SN eufss  emsmesnr 8, 15 WML 24
BHUNCLELTLOED UGG LD.

a) 1600 b) 3600 c) 2304 d) 5184

eller&sLomer ailenL:

2/8,15, 24

2(4,15,12
2(2,15, 6
3

= Xy =

1,15, 3

1, 5 1

1B.81..0= 2x2x2x3x5 = 120

Aeng ajsH&LNg LImHm 2, 3, 5 CHeme

120 x 2 x3 x5 = 3600

27)12, 15, 18 womId 27 o460 UGLLS Falgll OIS QUi BITETS

©)60&5 6T6H0T 6T60T6UT?

a) 9720 b) 9721 c) 9722 d) 9999
aflenssomen aflemL:

L8.8.10-(Lpeom-|
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30)ehg W& S eemeneor 3, 5, 6, 8, 10 wWOHMID 129460

UG5S @CI WBHWTE 21b e 139,60 UGS LS

A) 312 B) 962 C) 1512 D) 1586
allenssLomen ailenL:
23 10,12

Qurmgleumssr etegor = 120 k + 2

Qg 66 139460 euGUL  CeousttiGd. HSMHG 5GBS K
&6u1(HLNIg &8 Geusior(hLb.

120k+2 = 117k + 3k + 2

=117k + 3k + 2
{

Qg 13’9460 aiEUEHLD
stearGeu 3k+2 13’60 uGUL Coustni(hGsled K =8 oy@Lb.
K = 8 etstrmmed 120k+2 = 962
31)2(x>-y?), 5(x’-y’) -so1 BUQU@ QUTEIS Sewe
A) (x-y)  B)2(x-y) C) 10(x-y)
ellerssLomenr ailenL:
2 (X-y) = 2(x+y) (x-y)
5(x-y") = (x-y) (X“+xy+y’)
B8.Qu.eu cTealled @ret(RHGL AUTSIUTS QBLILS).
L8.Quim.eu= (x-y)
32)ahy OSLQUIIWL BITE @Qevds oo 15, 25, 40 wHMID 7560

6UGUELWD?
A) 9800 B) 9400 C) 9200 D) 9600
aflenssomen aflemL:

5 (15, 25, 40, 75
5(3, 5, 8, 15
3[3, 1,8 3

1, 1, 8, 1
5.8..0 = 600
600k = 600x16 = 9600

33) Qe erwusefesr 5. wHmD B.QuT.en pemmCuw 8

WMHMID 48. ¢p(h 616801 24 6160TMOMEL DM 6T6V0T 6THI?
A) 16 B) 18 C) 20 D) 14
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23 4
39) 357 3 6 LBUIQUE QUITG) LOL RIST6TZ)

12 36 1

A)—  B) — C) — D) 36
35 91 36

allenéswomer allenL

2349 BiOuE Q _

3,5,7,13m LQU@ QUS| DL RISTETS)

312,3,4,9

212,1,4,3

8.8.0 (2,34,9) 36

8.0 u.e(3,57,13) 1
40)3: 4: 5 aietim NEHHHL 2 et cLpsiTM) 6T6TuIGHeM6dT LB.QUIT.LD

(B&8m QuTg L MIG) 240 stefled Qeummistt LB.QuIMT.&
(BLQu@E Qumg Smisu)

A) 4 B) 8 C)12 D) 20
allerssLomenr ailenL

eTevar &6 3X, 4X, 5x

QmIGs X eT6tTLG LB.QUIT.6u

W& =3 x4 x5xx=240

X =4= 8.Qumeu =4

&H5 G alfl - Coialled QgL Calsviqul (LPmM

B.Qum.eu = 240 =

3x4x5
A1) cpstiml BUJSHET (I QUL 6Uqel SJRSGSHMHE &HMN Ch
QLEHO®mHH @Gy ChrsHed @Gy Hosulldd  BLES
SQILINSHOTTHET.  (WFeoTwal] @@k  WWpEammo 120

aevrmiq &SefeyiLb, @\yevoTL_m ey 150 a6rmig SefeviLd,
epeormmwoeuy 80  eenmgsefiguitd  Hlemmey  QFLISl6TMe6TTIS.
Sluguimenmed  ewpsoim  Cu@B  sTedeueney GBI &LHSS
SIDONSE QLS &hESGISOSTETEUM SH6IT?

A) 20 HIOILmus6T B) 2 HHIL b 20 eevrimiq &eit
C) 2 hHiL 30 eMevrmg e D) 1 AOILLb 40 elewrmig &e6it
allen&sLomeailenL :
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5495, 900, 1665
3| 99 180, 333
3133, 60, 111
11, 20, 37
Qenaussmen QUIHSS HemL LiLg LB.CL.6u
afenL. = 5x3x3 = 45 Q&.18

45)x°-1, x*1, (x-1)* @et

A) (x -1g= (x-1) (x“+x+1) B) (x+1)" (x-1) (x"-x+1)
C) (x-1)? (x+1) (x*+x+1) D) (x-1)% (x+1) (x*x+1)
allensaLomen ailenL_

(x°-1) = (-1%) = (x-1) (C+x+1)

(x2-12 = (x*-1%) = (x-1) (x+1)

(x-1)"= (x-1) (x-1)

8.8, x° - 1, x* - 1 womub (x-1)?

= (x-1)% (x+1) (x*+x+1)

46) 3w Slens (1 eremsailen LU, Cungsameni 5,

Simeusailen 1S &m| CungoL_rig (LCM) 105 oeubleussuiaen

A) 5, 105 (b B) 15, 35 L (hibd
C) 5, 105 sjevevgy) 15, 35 D) Qeummlev s1giajusleveneo
allensaLomen ailenL_

Slems stevsmisemnen S5x, Sy 616115,
5x.5y=5x105

xy = 21

x =3 womoby =7

e1es1Geu eT6vu1Sem 3 X 5 wmHmD 7 X 5

15, 35

5.6l = 5 oMb 105 = 5

5.8, = 5 wHmb 105 = 105

s16t1Ceu 616v01Z6n 5, 105 gevevg 15, 35

47)25, 45, 60 Guii Qenew GWwasams Lflsssaniqw les

Snflw G pallev 2 eneneunsefles elevvieuisans
A) 900 B) 450 C) 60 D) 1800
aflen&somen aflenL

24, 45 womibd 60 Gui ClanewIL & (W&semsL Lfl&e 8 sniq
e Sl @ welleo 2 eeneunsailen eevsenilsens
i§. 8. v (25, 45, 60)
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2497-em1 606UGSGLD CUTE HenL &G B4 37.

“ gl LUu@D etsvor = (60 - 37) = 23.

52)¢1hs &FADIW eTemienesor 5, 6, 7 WMHMID 8-9460 UGSHSLD
Gurg LB 3 KL EHGWD Sy6u1med CH 6T680r 9-o460 BHuNedT

6UGUELD.
A) 1677 B) 1683 C) 2523 D) 3363
aflenssomen ailenL

5,6,7,8- e 8.81.0 =840
CaLSLILL L eTetuteonilstT elqed 840k + 3
(840k + 3)-6ml 9 6L QUGHGL CUTH k — U6 GMDHGLL &
S k=2
GaLsUULL etegor = (840 x 2 + 3) = 1683

53)A, B wpmib C eTeiTUaufSeT (b 6ULL 6Uiqed 6MLDGTEISHH6L
@Gy yetalulled QHTLME 6CF ChrsHed 661 Hangsmw
Chres L SbssH WemmGw 252 elipmg, 308 el
oMb 198  eNpmguiled  APUUTTSET.  6Tesiled  som@id
selelene] CHISHHeL Siemeareu@pld  QHTLRIGW  LeTafued
&h&LILI.
A) 26 AL wHmid 18 efiplg
B) 42 hiblL1b wmmitd 36.e10bimg.
C) 45 AL Lb
D) 46 RIlAILLb HMIh 12 eNpmg.
aellen&sLomen ailenL
252, 308 wmmib 198 - 61 B.H.0 = 2772.
steaGeu A, Bommitb C QamLmidl LetaluNed &hHé@ Crih
2772 eNpmg &6 = 46 HUAILLD 12 eNpmg

54)ahg WeFHMNI eTeomiemiled 7-6nwl HNGGWL Gurg 12, 16,18, 21
LOHMID 289460 QIGUEHLD.
A) 1008 B) 1015 C) 1022 D) 1032
allerssLomenr aillenL
GaLlslul L etetor = (12,16, 18, 21, 28-6t1 5.8.0) + 7

=1008 +7 =1015

55) cpetim) QemiuenpsHaNed (penmGuwl 1653 6Bl L, 2261 0L

MM 2527 &AL QULGpmed 2 6engl. eme

SIMETTHMGU|LD LD Seeled eSS Falgul & (Hemeuuleor
SIHELLE ETEn6US SITEHUIS.
a) 31 b) 27 c) 19 d) 41
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Y =420
CeLlslul L eMenL = 4+2+0 =6
59) Quein(y sTemsaMsit Fa(BEHeL 336 WHmID Sieumbien B.CAL.eu 21,
6163160 SIhG  cTevoTemeunT  CUIT6L  61HGHemenT  CmMg  6TEHUTS6NT
EenL&H@GLD
A) 2 B) 8 C)5 D)4
ellen&somer aflsnL
Slsublauamsst 21 X wmHmibd 21y
21x+21y =336

x+y:33%1:16

60)chs LOGFAMW etemsmernr  48,60,72,108 wmmid 140 gyed
AUGSGL Curg BEH  weomGuw  38,50,62,98 womib 130
EenLH@GLD
A) 11115 B) 15110 C) 15120 D) 15210
aflenssomer aflenL

(48, 60, 72,108,140) et B.&.0 - K
=145120 - 10 = 15110
7 21 28 63
1) —,—,—,— -601 IB.QL.6u &M6T0IS%H
A) 7/624 B) 252/1 C) 624/7 D) 1/252
allenssomer eilenL

(7,21,28,63)61 1. Qe 7 4/4.16.13.6
(416,13,6)n 580 624 R Acrm
7|7,21,18,63
31, 3, 4, 9
1,1, 4, 3
6 510 . .. . .
62)7,2,5 - oW LNSFFHILING UGEHSEGaIq NSFAMNIW NEGLD
A) E 5)3_0 C)6_0 D)ﬂ
7 98 147 294

allenssomen ailenL
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6,8,9,12 pmb 18-61 BAWL =72 Jeasale
CoLSUILL L eTetor = g%i’%—g%’

(6,8, 9, 12, 18)-6i1 B.AI +5=72+5=77 2
67) 2x> —18y>,5x*y+15xy2 ,x’ +27y’ -ét1 1BQUTD STewms
A)10xy(x+3y)
B) (x+3y)
C)10xy(x+3y)(x—3y)
D) 10xp(x +3y)(x —3y)(x> =3xy+9y?)
ellen&somer aflenL:
2x* =18y° =2(x* =9y?) =2(x+3y)(x =3y)
5x%y+15xy* =5xp(x+3y)
X +27y° =(x)’ +(3y)’ = (x+3y)(x* =3xy+9y?)
68) Q@ LLVIMILLECEHTEmeuUNsT LB.QUT.LD WHMID B.AUT.6u

ERENE

wemCw (x° —4x),(5x+1),(5x” +2) Cogid @
LeLIMILILSCEHTEmEY (Sx3 —-9x2 — 2x)a66ﬂsi) LM QM TEITEnM

SM63015
A)(x* +2x)(5x° +x) B) (5x” +x)(x+2)
C)(5x% + x)(2x 1) D) (5x*41)(x* +2)

allerssLomer ailenL:
P(x)xg(x) =881 x B.0u6
(5x° —9x7 —2x)x g(x) = (x> —4x)(5x +1)x (5x> + Xx)
x(5x* —=9x—2)x q(x) = x(x* =4)(Sx + 1) x x(5x +1)
X(5x+D)(x=2)xq(x) = x(x+2)(x—2)(5x+1)xx(5x +1)
g(x)=x(x+2)(5x+1)
= (5x* +x)(x+2)
69) Q@ sistugefenr L5.CQL.eu WHMID B.QUT.L (WenmGw 25 WmHmID

1100. @46 e 6t6vur 11 Q6L ULP(PEOLOWITS UGUL (B, FFeY
25 H(pLd 6TeaN6L OMCMIT(L 6T6UUINETIS SHIT6H01S.

A) 100 B) 50 C) 125 D) 300
aflen&somen aflenL:

QemT(R&eLIULL etedor = 11 x 25 =275
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74)61Hs WOSLQUIIW eTetorsmanmed 1818 wmHmID 2575 6ol QUGSGLD
Curgl 185 (WemGuwi 6 WwHMID 8 HenL &GLD?
A) 127 B) 151 C)35 D) 191
aflen&somen aflenL:

Cal sl L e = (1818-6) wmmid (2575-8) 61 L5.QLL.6u
= (1812, 2567) e LB.QOL.a

1812)2567 {1
1812 1511302 (2
755[1812 {2 302
1510 0
302 | 755 2
306
151
15.Qu.eu = 151

2.5_3
yz

75)18.Qum.eu sneus: 7x°yz", 21x
ellen&sLomer allenL:
7x2yz4 = 7><x2yz4
21x2y523 = 7><3><x2y523
18.Qum.eu = 7x’yz°
ellen&sLomenr allenL:
18.Qum.eu = X7y
ellen&somer aflenL:
25bc*d® = 5% x bc'd’
35b°c® = 5x7b°c’
45c¢°d = 5x3°c’d
18.Qum.eu = 5¢°
78)18.Qum.eu snewws: 35x°y°z*, 49x°yz’, 14xy’z’
ellen&sLomer aflenL:
35x5y324 = 7><5><x5y324
49x2yz3 = 7><7><x2yz3
14xy222 = 7x2xxy°Z?
18.Quim.eu = 7xyz
79)18.Qum.eu srsvurs: c>-d’, c(c-d)
ellen&sLomer allenL:
c?-d? = (c+d) (c-d)

147



RADIAN IAS ACADEMY Ph-98403 98093 www.radianiasacademy.org

87)18.Qum.eu smsvura: 24(6x*-x>-2x?), 20(2x°+3x°+x*)
aflen&somer aflenL:
24(6x"-x>-2x°) = 4x6xx?(2x+1) (3x-2)
20(2x%+3x°+x") = 4x5xx*(2x+1) (x+1)
Qurgl syewger 4, X, (2x+1)
18.Qu.eu = 4x%(2x+1)

88)15.Qum.eu srsua: (a-1)°(a+3)% (a-2)%(a-1)*(a+3)*
aflenssomen ailemL:
(a-1)°(a+3)’, (a-1)° (a+3)" (a-2)’
B.Qum.eu = (a-1)° (a+3)?
89)18.Qum.o &newrs: 66a’b’c’, 44a’b*c? 24a’b’c?
allen&sLmer allenL:
66a’b’c’ = 11x2x3xa’b?c’
443°p*c? = 11x2x2xa’b’c?
24a°p%c* = 2x3x2x2xa’b’c?
stenGeu, B.QumL = 11x2x2x3x2xa’b’c* = 264a*b*c*
90)8.Qum.o sreswa: a™ ,am 2, am
allen&sLmer allenL:
am+1 = amxa; am+2
am+3 - amxa3
cteoiCau, B.Qumn = a™xad=a™

= aMxa’

91)158.Qum.LD BT6TorS: 2x%-1 8y2, 5x2y+1 5xy2, x3+27y3
allerssLomer ailenL:
2x°-18y” = 2(x+3y) (x-3y)
5x2y + 15xy2 = 5xy §x+3y)

x*+27y° = (x+3y) (x*-3xy+9y°)
B.QUTD = 2x5xxy(x+3y) (x-3y) (x*-3xy+9y?)
sTenCeu, 8.QUILD = 10xy(x+3y) (x-3y) (x>-3xy+9y?)
aflensaomen ailenL:
(x+4)” (x-3)°; (x-1) (x+4) (x-3)°
sTenCeu, 8.QUILD = (x+4)% (x-3)° (x-1)
93)16.Qum..o &IT 6001 &: 10(9x*+6xy+y?), 12(3x%-5xy-2y?),

14(6x*+2x°)

aflensomer aflenL:
10(9x°+6xy+y?) = 2x5(3x+y)?
12(3x%-5xy-2y?) = 2°x3(3x+y) (X-2)
14(6x*+2x°) = 2x7x2x° (3x+1)
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eller&sLomer ailenL:

Qe eTauseMs Fa(hgHev 528 sleummiest LB.Qu.eu 33 eT6irs.
Shs Qb etetusen 33a, 33b 616018,

33a + 33b =528

a+b=%=l6
33

13 57
a+b @
15 13 11 9

4 Cxmmig 6T6UTSH6ET ML &(GLD
97)eths NsLQURlW  eTeuemommed 260, 720 MHMID

QAUGSHFTL SemerGHeuid 7 BHWITE eu(HLD.
aflen&somen aflenL:
18.Qu.ex (260-7, 720-7, 1410-7)
8.Qu.eu (253, 713, 1403)
1

71311403
113
6907131
£80
23169030
690
0
18.Qu.6u (23, 253) = 23
98)61Hs LOsL QuIflw eTetoemrmed 152, 277 WHMID 4278 UGSHSHTL
JmeaSHSHed ¢Cr B au(pLD?
allerssLomer ailenL:
8.Qu.eu (152, 277, 427)
1B8.Qu.6u (427-152, 427-277, 277-152)
18.Qu.eu (275, 150, 125)
150 1

125575071 1
125
2571251(5
125
0
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175, 560, 700

7175, 560, 700
5[ 25, 80,100

9, 16, 20
B.Qu.eu-smwt 100 60 UGHES
15.Qu.eu =.35

102) 12, 15, 18 LOHMID 27 gL QAUGULS Salgll WS Quiflw

BI6TE @6V&S 6T6U0T 6T60T60T2
aflen&somen aflenL:
9999 ¢r6tTLIG) OSLAUIFIW BT6TG Q6v&S 16T
B.8.0 (12, 15, 18, 27) = 540

18
540|9999

540

4599

4320

279

9999 - 279 = 9720
12, 15, 18, 27 g460 QUGLLSFalqwl ASLAUFIWLCHT6TES 60&Hs
eTeor 9720

103) 4 wavger peomGui 30 [, 1 wewn, 1 Y2 wew WHMID 1
wewl 45 HOIL  QenL_CeuaNuiled REOIGHGIMEST  SIMETTSHG)

NS EHD, HETLSHD 12 WINSGEG 660D  ¢60&SETMe6T
61677160 SIMEGHHID S(HLOL 6TLICLITG| 6R60TDTE €26015HEGLD?
allerssLomer ailenL:

4 wewiser WenmGuws 30 BB, 1 e, 1 72 wewn WwHMID 1
6wt 45 KO §Hl6L €26015GLD.

(30 HILAIL_Lb, 60 HILAIL LD, 90 AL D, 105 HILOIL D)

18.8.10(30, 60, 90, 105)

3130, 60,90, 105
5110, 20,30, 35
202, 4 6.7

1, 2, 3, 7
3x2x3x7Tx2x5 =6x21x10
=1260

1200 1o
60
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106) A, B, C cpermy Guj 6@ eulLl umemgulled Gy
AL SHHOBHE, @C) ChrsHen, Cr Hamauiled QHMLJ&FALITS

@&ame]. A @ &OM WigsHS 252 eleimg&enbd, B @
&HM WK&s 308 eleamgsenbd, C @ &OHM (PigsHs 198
N6 SEHLD 6T(HSHGIS CSHTETSH6ITMEII).

allerssLomer ailenL:

A, B opmid C @ el ealgelled &OMID QUTRE @
&OHM&G 252 elenmyg, 308 eflemg, 198 elesimg G SSHS
QETETEMTTSH6T 6T60T5.

18.8.10(252, 308, 198) = 2x3x3x11x14

= 2772 elevimig. = 46 BB LD12 efleormig
107) 12, 15, 18 wOHMID 249460 QUGULSE Falwl &S S

LH& Qev&HS 616w 6T60T60T?
eller&sLomer ailenL:

O&FONWL @mH& Qevss eeor = 10000
B8.8.10(12, 15, 18, 24) = 360

28
360|10000
720

2800
2800
()80

10,000 + 80 = 10, 080
12, 15, 18 960 QUGULS Falqwl NSLCAUAIW RHEH QevéHs eT6t
10,080

108) Q@ueau® esosen 45 eeim  aNESHHHL 2 eiTersur.

Slemeuseilsr LB.8..0 180 Al eTesor?
aflenssomer aflenL:
QETEESUUL L cT6ugH6T 4X, 5X 6T60T5.
Sleumistt L5.8.10 = 20 x

5 20x =180 x=@=9
20
oHhG eTegugen (WemmGW! 4x9, 5x9
36, 45

Sieummlev Mg 36
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13x x 13y = 2028
2028

13><13

1&<(> "

EMTUST 6TEHUSH6NTS CHjey ClEFu1s.

(1,12) (3, 4)

gqsn(;]snmream

(13x1, 13x12) (13x3, 13x4)
(13, 156) (39, 52)

QaemESsLULHeTen 616a&SeT FJ Qevssd  eTearLgmed (39, 52)
eT6oTLIG| Fflwimenr eNevL .

112) g WN&E HMw eemsnen 3, 5, 6, 8, 10 WHMID 129,60

QGS5S @Cr WHWTs 2 eu@pld. Yetmed 139460 UGHSTeL LES

QUTGI?

allerssLomer ailenL:

N&FaOW eteor 3,5,6,8,10 wmmid 12 gy UGULEB B 2
SBL GLOYID 138460 (W (PEOLDWTS EUGUHLD.
15.4.10(35,6,8,10,12)k+2

13

—
M

B.8.10 = 3x2x2x5x2 = 120
120k +2
13

— | —
Sonon(o|lo

[0 I o Y L P
e e Y [

b
._h_x_xm(j'j

P IS
= ho|

3k+2
=117k +

17 Weowwns 13 g6 aIGUEBLD
k=1,223,....
k=8

BT/ AR

120x8+2

TR 960+2=962 Gameuwme esin = 962
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QarhssUUL (hetengl; (b sT6oor= 280
xxy=18 &. w(xy)xB. Qu. e (X,y)

560x40
280xy = 560x40= y :W = y=80x=280

116) Quau®h eeausafer WB.Qumw 14 wLMEG WB.Oume o8
A@Uietr, 15.Qumw, WBOumey eelel LGS CsTems 600

& D 6] etoor 280 L& @UHLULNGT MM  6T6HIT6M6T0TE
SIT6U0T6YLD
aflen&smen allenL:

a, b e160TLIH| @5 CTEUNSHET 6T6015.
@nsioi® eTsnseMest LB.QUT.6u ‘X' 6T6oT
@Qsioi® erssuseMedt LB.QuUT.LD 14X 616018
GCaemalluiled QbhHa

18.81.0 + 15.Qum.b = 600

x + 14x = 600
600
15x =600 = x= ——=40
15
18.Qum.o =40 1B8.8.10 = 14x40 = 560

1B8.8.10 x 15.Qum.p = axb
560x40 = 280xb
560x40

280
117) 2°x3%x5x7° 2°x3*x5°x72, 22x5%x 73601 18.Qum.eu
aflenssomer aflemnL
2,5 LOMHMILD 7° 6T60TLIH| SIUQQIGTISHAMNEHT CILITSIOITET LIST 6T6v01
SABQumey = 22x5x72 = 4x5x49 = 980

118) 12, 16, 32, 64si1 LB.8.10

=b = 80=b

allen&sLomenr ailenL

RS

B,

%)
)

B4
16
4
]

[ N I

B.81.0. = 4x4x3x2x1x1x1x2 = 192.
119) Q@ siausefer eNH RS (PeMCW 5:6.

e ] =
RSl

SieummMlstt B.Qumeu 11 6TeofleL sieuQeustosafledt L.&).Lo-emeusd
SITET015.

aflen&somen aflenL

SlelCaEIHemaT SK MHMID 6K 616015,

5k inmmib 6k — o1 L5.CQum.eu =k
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S. el pmn (peLRIsET HMID 6B S ESS G056
aNflgwmm  cpeomiser (SURDS): \/5,\/5,\/5 6T6OTLIGDT
NEGHUPMIT 6TEUSH6T 6T60TLIENG HTLOMIGUTD. Qeumenm  6THGCleum(h
ANAHUM TGN  UTEERSAMHAD  6T(RS  (PlGLITGI.
3\/5,3\/5,3\/7 creoTLienT  NAHUPMI  6TEOHUIGHATEHT  H6IT  CLPGVIRIGE.
Qeumenm  ThGReur  NHGHUPMI  CTEHUICINET  SHEMHIGATTSHELD
PSWIWITG.  Qeieuems  NAGUWOT sl aNSHGUPOT
CLPeLMIGET (Surds or radicals) eteTlL@ELD.

‘a @m Dms aNHSWM 66 LOHMID N @ LOEnSLP(LD 6T6DTS.
4/;@@ NEGUPMIT 616501 6T6DT6L, %ﬂsiﬂug,j N&GHUPMT CLP6VLD
6TETLILI(RLD.

\/Z=2, 3\/27,%, 5\/32,6\/729,....oﬂ&]g,@mrr CLOGLIRIGET BI6D6V.
@aUQeur@ NAHUPMT CLPEO(LPLD NEG (M ETEUIEIINTGLD, 66D,
@aldaurm aNASUIMT  eauaid @l aN&HGUIMT  CLPEILTS
Q&5 Ceuetlgul SIEUSIILOGLENEL. 6TBT: 77, € 6T6tTLG | N&GUPMT
6TEUUIGET 60160 NEIG (LPMIT CLPEVRIGET BI6L6V.

aFgpmm cpeudHHeT UGS GSSHGSM eulgeauLd: fa 61601
ANHsWDOT ST BIHEGSGD  ulgeuld [(a)l/"] A GLD.

ANAGHUWOT s Hlett TIHSGS GM 6.8, \/g, \/g, (7)3/2
&g (Lo eLPELS H6tT &60T EIOF:16): ] &M 6.5,
%/5, %/7, (6)5/3 , (9)2/3 , NHSUWMT CLPLGHET BIetiE AHESS

e aar., ¥2,33,3/7,(5)"4

SeoLll QlSISUPMIT CPLMIGET: @m NHGUDT cevdSer
GWSHD LG @& 1R8BS Faly Goum eNHHUPMI 6TeTI6TITS
UM, 948 Heolly aNHGHUPMT epevLDd TeTLILIBLD.

RS SIGHTL_LITS, 2\/5,53{/%,34\/Easifrum sty eN&gWmT
CLOELRIGETTGLD.

©®568 LOHMID delaum aFGHUPMT  ELPELMIGET:  eTol
algeled o dten @neini(h NHSUIMT CLPELMIGEET auflend OMHMILD
Sl LOMEITD &LOLD 6T6aN6D, Siemed €255 NAHUPMT cLpevmiset (like
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aNflgwmn cweomseaflsn LGdamw aNFg UL SH8I%He0
aNFHULBHZILD &miyeusi

@@ Gommeiullel UGHUNDL 26T 2 ML  6UFSHSCLHED
SILeVG  VSGHIUIL (HEGeT 2 6ten LOenS  eTstomeoonmds  @\(bLIN6T
UGSl eNHGUPMI 6TeOoemTeES  FomeT CaMeneUwlns LMHmILD
wenm, UGHemw NSSHLLGSHHID (WPenm 6TeTLILIHBLD.

@Quen(h &GO 6TevuHaNeT CQUBHSSHD (5 aNHHULOMI
616001 6T6oTl6D,  e@6dTM OO ONAFLIUGSHID — STyewi
(rationalizing factor) gy@Lb.
GOIUY: a, b eTeueT (P(PSST WLOHMID X, Yy eTeoTLe  LHlens
W (&6 616018, LTINS
(i) (a+\/;) LOMHMILD (a—\/;) 6T60TLIGNT  6R60TMIS QST
aAN&SLULGSHGHID SHTIEUNS6TESLD.
(ii) (a+b\/;) LOHMILD (a—b\/;) STETLIEN  eR6TMISQSTET D)
AN&SLILGSHHID SHTEUTS6NTESLD.
iy Vx+y wopn Vx-y adum  gamsasmsm
AN&SLULGSHGHID STHENSETSLD.
(iv) a+x/3 6T60TLIG) a—JZ @it Qememl 31DV HleMeTITUTILL
616001 6T60T6VID SIMLNSSELILI(RHLD. QCHCLITEL a—x/Z@a'&r Eemeunt 6T6w0T
a+\/z QGLD.
(v) @@® el uGHow eNASILBES,  euCleusgoentne
QeM@s WLMHMID UGHSmeT NHSLILUGSSHID STPEENLITED QLI(H&HS
Ceuesur(B L.
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a’—ba+c=a’*+ba=a e&Cey &= cz+ba

30)a+0, erenr SOWOHG FLOGTUTH ax’+bx+c = 0-6ir CLP6LIRIS 61T
a womid [ eefle, MeraimeauaaibmieT g QLoLILIEL6?

2_
A)a2+ﬂ2:—b 22ac B) off =<
a a
C)o¢+[3=é D)l+l=—é
a a p c
aflens&Lomer allenL:
a+,B=—2; a,B=£
a a

31)ax’+bx+c = 0 eréitm @@OUIGF SOGTUTL Q6T CPEOTRSET o
1

womw S eaefléo, — HMID % SpFweTeunhenm
a

CLPELMIGONTSHS Q&Moo @)\(IHLIG &F&FLO6TLIT (h
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35)x eT61LIG)| Lhlema GLOUICILIGTT 6T6uTleD x+l-a'rr LD FLIemLIS
X
SIT6I01S.
A) aumqumISs (PG WIS
B) 0-8m@wWw 1-1b @emL G
C) 2-g oL @mmeuns
D) 2-0 ol H&LIsGeur 96060 FTSEGEUT Q(HSHSLD
ellerssLomenr ailenL
X 6T60TLIG] LOIGMSULP(LY 6T6TOT 61601,
x =1 ¢teor NJHUNGHS

4= 14122
X

1
6T60TGoU X + — 6T60TLG| 23 el SISHNG I6L6VF| FLOLOTS
X

D®&GLD

36)3x+2y = 18 e1evilev, Y o1 LI iFlaflgaliLic e X e iy
A) oiFl515 @0 B) (&smmujid
C) wrmmned G)(H& @S D)Lh&flon@id
aflenssLmer aillenL

3x+2y = 18 e168il6v, 60 y-61 W FIIL 2 Wi S SLILILL_T6D X-651
Y Genpub.

2_FNnewions

y = 1 e168flev x = 5.3

y = 2 et6tflev X = 4.6

y = 3 et6tflev x = 4

(1.5 +(4.7) +(3.8) —3x1.5x4.7x3.8

(1.5 +(4.7) +(3.8)* —=1.5x4.7-4.7x3.8-1.5x3.8
A) 35 B) 30 o) 10 D)1
aflen&somen aflenL

(a+b+c) (a?+b%+c2-ab-bc-ca) = (a+b*+c®-3abc)

e1651m)| B &G OSiluyb.

. Qan(&sULL (heTen 56m18 @) Llsaibonm| 2 eaeng).

a’ +b3 +c® —3abc

a’?+b2+c?—ab—bc—ca
@ré.l@ a=15,b=4.7;c=3.8
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UXtytz=0 = x3+y3+z3 = 3xyz
. a1/3+b1/3+c1/3 =0
:>a+b+c = 381/3 b1/3 C1/3

. (a+b+c)® = 27abc

41) sHenguileit QUG &ML GUITEL €6 L M. 12

SEOIEHERSHGL LNMEG ShenSUllem US| &6 GLITeL

OGWLLKIG 6T61l6d eufHeMNesT HHCLMTMSHU! UGS SHITCHUIS.
a) 10y, 30y b) 12y, 36y c) 6y, 36y d) 124y, 24y
eflensaomen ailenL

LDG&6DTl60T HHCUTMSII 6UWIH X QUHLAISET LOHMID Sihen&ullsst
SHCUTMGUI QUG ‘Y 6T60TS.
GCaemauNed QbHhg,

y = 3X

(y+12) =2(x+12) ... @

y = 3x ¢t601 Foeun® 2-60 NHUNGS
x=12

..y =36

42) M8 aTsiueu] Heagl QevevdHed QHgl 760 &5

uwevrd Qewidmmer @Hev GMIUILL u@Gdenw QyuileSest
cweowd BH uGHemw STfeT cLpev(PLD Lw6wiSHmIT6T.
SiaueT Qs GTrsHev 160 HCeom BLLeny @ruileslesr
cweowd WHenw Smfler cpeo(pd LweGSmeT 8 Loevof

ChUb g@W. G sauer 12 HISILLD Fo(bH6LMS LILIGHITLD
Qawigny erefleb QLNHH AHTemevailed, 240 .8 @ruiedler
cweopd WHemw SMifled cLpeLLD LILIGOID QFWIeUT @Ihi(G
@ruileb wHMID &TH6L eu LwWeNHSH Cousddene s
(.60 6voN) &ITevoTS.

a) 40,80 b)60, 120 c) 80,100 d) 100, 120
allen&somen aflemL

Qur$ss Agmemevel= 760 &.15.

&Mfled Lwigmd QFlg Geusd X &.fwemh wHmIL Qruieded
Lwiewrd Q&g Ceusld ‘Y &.B106wN 616018

. Qamemeve| = Geusld X GBILD

:>T:2
S
[0 160 ®
X y
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44)4x*+10x°-20x*+90-mW x+29460 UGSHGD CUTF DL &EGLD
BHemws smesos.
A) 0 B) -6 C) 45 D) 90
ellerssLomer aillenL
P(-2) = 4(-2)" + 10(-2)% - 20(-2)* + 90
=4x16-10%x8-20%x4+90
=64-80-80+90=154-160 = -6
45)p(x) etetTugl LG 1 B& QASBTEITL @ LLIBLLS CaHTene
LHMID q(X) ereiTug) Ulg 2 886 Q&ML s(h LOIMILILS
Gameneu erafled p(x) * q(x) 6T6TLGI 6TEUIMBLI LISLEYIMILILS
Comemeu?
ellerssLomer ailenL:
p(x) 61681 LILEIMILILIEG GoHTemeuuedr Lig 1
q(x) stetTm LLEIMILILS CaHTemeuuidT Lig 2
p(x) % q(x) e1601m LLIMILILIS CoHTemeUUT6HT Lig = 1+2 =3
46) uLVIMILILS CHTMEUSMET UGSHG Fa| HMID WBHmWS

SIT6O0T5: (4x3+6x2-23x+18) = (x+3)
eller&sLomer ailenL:

44t BN -5
%+3 a;'f- Exd 23x + 18
dxds 12
ByZ. 13x
'4515_}13:!'
- 5% + 1A
bx - 15
33
ey = 4x°-6x-5 B4 = 33

47)uLIMILILS CHTMEUSMT UGSHG Fa| HMID WBHmWS

snes: (X>+3x%-31x+12) + (x-4)
aflen&somer aflenL:
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50) ucbeuIMILILS CaHTmausMET UGS Fe HmIb WHemwis

Snevus: (242°+142°-182+18) + (3x+4)

aflenssomen ailemL:
82° -6z +2

3z +4 247° + 147° 18z +
247° + 327°
() 6

/

-182°- 18z
-182%- 24z
+) )

Z

+18
+8

(-)
1

e = 82%-6z+2 184 = 10

51)Qasucusgdlstt LyLy X>+Tx+12. 315601 &evld (x+3) ereoflsv,

318601 HaTd &mevors.
eller&sLomer ailenL:
QE6IUBSET LJLIL = X°+7x+12,
ugliueney = Herb X oi&eLb
X2+Tx+12 = (x+3) x Benid
Benmib = (X°+7x+12) x (x+3)
x+4
247X+ 12

Zz+ 3x

(GRV]

“

6y = X+4

3IH6VLD = X+3

X+3

+12
+12
0

B8 =0

L fermd = x+4
52) QememnrspSHHleor LIFLIL 25x°-16. 3IGH60T IlgLILSSHLD (5x+4)

6T6ofl6L, BIGH6EHT 2 WIJLD SIT6VT 5.
ellerssLomer ailenL:
Q@eamsrs et LFIY = 25x°-16
g lIL&sd = 5x +4
ugluene] = SglIUSSD X 9 WIfLd
25x% - 16 = (5x + 4) X 2_Wib
25x* -16

Sx+4

o uigLlh =
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B8 = -143
55)x2°18+ 2018 eretrm LLYIMILILEG CHTEMEUMW X-19L60 UGHS

HL GG BHOWS SHMewors.
aflenssomer aflenL:
x*°"® + 2018 is divided by x-1
p(x) = x*°'®+ 2018 Letg(x)=x-1=0
p(1) = 1%°'® + 2018 x=1
=1+ 2018 = 2019
56)x2— pX + g =0 eT6IM FLOGTUIML 19637 CLP6VMMIGET a LOMMILD b

I 1

6T6ofl6L, —+Z-6'5'I' L SLIND6TS &IT60rS.
a

ellerssLomen ailenL:

a woHmid b g&uweme X2 — px + q = 0 6T60TM &FLOGHTLIML Lq.65T

CLOGLMIGET. SeUDMIEHT Fa(hded a + b = p MMID ab = q Y GLD.

1 1 a+db p
et6oGey, —+— = ==
a b ab g

ellen&sLomer allenL:
p(x) = X>+x%-3x+5 616518
GHGL  Camemey  (X=1). earGey UGG Cameneuule

Y&ESW 1.
111 1 -3 5
0 1 2 -1
| 1 2 -1 4 — 154

TenGeay, ey = X°+2x-1, 158 = 4

ellen&sLomer aflenL:

p(x) = 3x°-2x°+7x-5

aGHGL  GComemen (x+3). eaGe  UGEGL  CaMemeuUTsdT
Y &SWI -3

-3| 3 -2 7 -5
0 -9 33 -120
'3 A1 40 |-125 — 184

enGeay, ey = 3x*-11x+40, 188 = -125

59) (3x°+4x>-10x+6) + (3x-2)

aflenssLomer allenL:
p(X) = 3X°+4x*-10X+6 616515,
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64)x2-6x+5 = 0 eretim &SLGATUMTLIGQET cL6LRIGEMST &a () &6L
WHMID QAUIHESMHLELETS &IT650TS.

aflens&Lomer allenL:

X-6x+5 = 0

ax’+bx+c = 0 6T6tTm FLOGTUML 1965 Lig a=1, b=-6, c=5

a Wmmib f etsoiuent QaMHSEILL L FLOGTUML G637 ELHGLRISET
6T60TS.

e1601Gel, epeLmIGaie Fa(hHed, o+ f=—

c
eeomisae QUGSSMHLUeET, off =— =
a

eteoiGe,  cpeLmIGaNsT  Fa(BHL  WOMID  CUGHSSMHLISVET
wenmGuws 6 wmmIb 5.
65)2x-7x+k = 0 s16afleL k-601 L0&HLIOLISE &HT61018H GLOGVID 6€2(Ih CLPGVLD

MHEADTETMIEH HeneSLNUNGT @ (IHLOL HIG.

ellenssLomenr ailenL

CLOGLRIGEMENT O, 2/ oL 6T6HTS.

cLeLmISeMeT QULSSMHLeLsT = o X 2h'or = k/2 = k=4
66)px2-18x+81=0 61601 @ (HLIGEF FLO6TUML 1q60 P-65T LOKILIEHLIS

SIT6T015.

allerssLomenr aillenL

@@ Fwiomer QWIS eLeomissT 2 ataer, b>-4ac =0

= (-18)-4 x p(81)=0=>p =1
67)s2 WHDeYHAsT Geusld 15 H.8 2 wWFHFHD Curg 300 &.L5-

ol 1 e CHISHMNG GMMEUTEH SLEGLD 6T6o116D SMifledT
2_6HuTeMLOITEN COUSHSHMGHEH SHT6H0I5.
ellenssLomen ailenL

w&PpehHeT Geusld WOHMID CHISMS (WenM S MHMILD t 616575,
sxt=300 ...... @

(s+15) (t-1) =300 ...... @

@ omid SedwHE!

s*+15s5-4500 = 0 =>(s-60) (s+75) = 0 =>s = 60 &.B/L0ew
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T (s LOHMID SOLA 2 My QSTHESIULL Fal (K&CSTL 60T
FInEfl(LPSH6V 61658T HevL_& 61651

(PS6V 616501 + SHenL_&] 61 6vo1

2

& X BUTSHET QBTEIL B G(PHalled &mefl euwigl y 6@ ser.
@M, UHu 2 miinerny SiSGpellsd CEIHITH  UEHSG(Heiled
o oo BUGSHeMetT USHW SOTFF UG Z Y IEHS6T.  6T6vl6L
USWSTES Ceihs U6 eulgl = [Z-X(Z-Y)] Sheim®aeT

& X BUTHET QBMGUIL @k G(pelled &rmafl aug y b ser
56GeNeL QBHE G BUf QeuefiCumiISmmy.  eearGey
&G (peNed 2 6en BUSANeT LUHW FITEFHl QIS Z QG SH6r.
st6olleL QeueNCuwIniul BLfledT e = [Z+X(Y-2)] < 6T01(BS6

& ny wHUYSeNetT FITERl X, WOMID N, WHULGeNT FITER X,

nx, +n,x, j
n, +n,

eTexled (Nq+ny) LHLILSeMstT QTss Frmed (

&FL_hG O 10T 58 6 HTemev &

&  gpngfl Geusd =
6T (NS5 C\&M GBI 6l 1M & G HiJLDd

T @@ BUT @B GOILL  GHms X &.8 / wal GCousssHed

SLSEADMT OHMID HCH &I Slemenel y &.5 / e Ceusd v

SLGEDM] Seu Qrgsl Lwe Hipsder el CeusHd

2xy

&8 / et
xX+y

QMm@ LWEID QFUWIWD HIPLD &LOLD.
@@ LwWEgSer U FHsHme x S / weh CoussHaid
womid S urdh smEme y S / el CeoussHenibd

2
SLHSTL QTESL Lwlewr SMysHen Fomsfl Cousld YV 8.48
X+y

LO6TN
T @@ BUJ @ GSOUILL HrHams x &5 / e, y H.iF /
e OHMID z .5 / e SLBHHTEL Heuflett Frmafl Ceousid
ﬂ@m / 1D6utN
zy+yz+zx
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ol L0 &gomefl(AM.), QuUBmESeL &gmefl (G.M.) WMHMILD
Aemseys sgmefl (H.M.) Q&L L &6t

a oMb b 6L @@ FWOWHM NS aT6SHET 6T6sTl6L
= gal Lev ggmell (AM.) > Qumsssy gpmsfl (G.M.) > Qemsel&
+b 2ab

>a/ab >

a
gnmafl (H.M.) etevfen.,

a+b
& gal Lev &gmsfl (AM.), Qumssed &gmsfl (G.M.), Qemgeys
ggmefl (HM.) eaetiusor @@ QuBSSSQsT Lo (G.P., )
2 (HEUTHEGLD. 6T6vTl6L (G.M.)2 = (AM.) x (H.M.) a wHmMIb b &LoLbd
eTerile, AM. =G. M.=HM.=a=b
Quullett (pHeTem) GCHIeYsafler Sy allearmssen

3 5 7
+—+—+—+
4 36 144 400
2 MIUY&efleT aBHe0 SHTewors.
99 999 9999

A) — B) — C)e—— D) 1
100 1000 10000

allenssomen eflemnL
3 1 1 1

4 4 12 9
QGCsGumsiTm),
5 1 1

... 6T60IM Q&HTLIfl6tT (LL&6L 99

7 I 1

144 3 42

. 1 1
n®% e M= — —

1
S, =1-———
(n + 1)2
. ggmgﬂ &Q.”—"-I = L — 1
B 992 1002
WH6L 99 2 mliLserleot
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BIT63TE 6T6vuenletn Fo(h&Hew = 25 x 4 = 100
Shsslul L etetor= 135 — 100 = 35
@@m GCoyealléd 8 wmeawmeujsafler Fpmefl wHUIQUeT 51.
oM G 9 wraweufsefler Fymefl wWHOCQUevTr 68.

ereofle 17 wnereujseflett Qg symaf wimg?
A) 59 B) 59.5 C) 60 D) 60.5
aflen&smen aflenL

8 LomesuTeu&enlent CIomSS HLiCILesr = 8x51 = 408
o memsteu&afest QOMgs LSILIGL6T = 9%x68 = 612
408+612 1020

. CaLSLILL L 6T650= = 60 eflemL: 60
17 17

werm|  erewmseflstt  ggmefl 60. (pFHeomeug eredT  LOMHM

cqusefledl  FaBHOl6L BHIGTHL @M UKIEG  6T6ofleL
(LPSHELITEUS)| 6TCOIT6DICTOIE & IT 650 5.

A) 30 B) 36 C) 42 D) 45

ellerssomen ailenL:

x+y+z = 180

1
x:Z(y+z) = 4x = y+z=25% = 180, .".x = 36

11 ervmseflenr ggmafl 10.8. Cueb (WHev 6 erevorsefleir
ggngf 10.4 wHMID HOLA 6 eranseflar symaf 11.5 erafed
BHG 2-MILL (66UGl) SIT6H0TS.
A) 10.3 B) 12.6 C) 135 D) 15.5
ellen&somer afleoL:
Geug) eteto= (6 x 10.4 +6 x 11.5-11 x 10.8)

=(62.4 +69.0—118.8) = 131.4 - 118.8 =12.6
QarLysflwmen 7 eTandefler Fym&fl 20. erefleb WOSLGUFlW

6TGUOT6DIGUUTS &IT 60T S>.

A) 24 B) 23 C) 22 D) 20
allen&somen aflemL
QamLgsflwrer 7 etctngafer symefl 20
M6 CGTLFFSILTET 66301  6T6OILIST6L  SleuMMlest  CUTE)
ANGHLITELD €65TMI. UG @ Fal HEHASTLM] 2 (HEUTHEGLD.
7 ememmliuenL et6tor. 20 BE 616801 UGBTI SLD&HSHETIIL QT
SIEMLO LD,
17,18, 19, 20, 21, 22, 23
sterGeu WsLQUIw o mit 23.
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12) epettm) eTevoTs6fl6L QEUITLITLD 6T6o0T (LPFH6L eTevuTemensT CLIT6L

Q@WLKEG WLOHMID EPETMTD  erevoremesnr  GUITEL (OGN
LG Cueid cperm sranseflsr ggmafl 44 erafled Quiflw
6T 6UUTCDIGTUT & &[T 6T &>.

A) 24 B) 72 C) 36 D) 108
allenssLomen ailenL:

CLOGSTMMLD 676301 ‘X’ 6T6018.
S @6t mD eTevor= 3X
. oo 3x
LOHMID LPGEL 6T65or = 7

SHAUTDSI, x+3x+3?x =3x44

8x+3x 6x44
= =

=3%x44 = 11x=6%x44=> x = 24

CLQuiflw etedor= 3x =3 x 24 =72
13)psH6v 9 usm erevarsaflett Fomal:
2 1
A)9 B) 11 )M — D) 11—
9 9
ellerssLomen ailenL:

GaLsuul L gymsi

2434547 +11+13+17+19+23 _100_111

9 9 9
14)em; HRN&EQs  afffldr udgh Guriuseflesr &gmeh

eLLmsem 32, 9G5HH Gurliuildds Qeuj eaHHemen
PLLHEGE dhHSTL Qeuflet Frm&fl @l L S0 4 2 wW(pLd.
A) 76 B) 70 C)4 D)2
aflen&smen aflenL
Hf&QsL aflffler el LR X 616i1s.
10 GurLiig &eafledr QOGS epl L muger = 10 x 32 = 320

320+ x

=32+4

=320 +x =36 x 11 =>x =396 — 320 = 76
15)X wmmid Y ullesr gpmefl org eu@homeid €5.5050. Y wmmib

Z Wett egmgfl Mg eupLomend ¢5.6250. X womid Z ufler
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Coydw sgnagf = 13+§ =14 aflemL: 14

19)50 mugseflsit sgmefl euwg 36. WBau@wL @G WD

Fslunis@d  Cung 48 eaaUBHEG uded 23 TS

SeusELLULL gl ereflled sflwmer YHw sgmeflenwl &Imeuo s.

A) 35.2 B) 36.1 C) 36.5 D) 39.1

ellen&somer afleoL:

50 pLIjSHeletT QTsHE euwigh = 50 x 36 = 1800

1800-23+48 1825
50

=36.5 efenL: 36.5

gflwmesr gymgf =

20)A, B wmmin C ulleir ep@ mmer symefl eu@bomed em.450.

22)QgmLygsSlwunen el L&

Gued A wmmibd B ullsr @ mBmer &ymefl eu@hHLOmeLD

¢5.400, Bommib C ufleir spm mmer sym&fl eu@hLomeid em,.430
eTeofleL B uiletr sp(p HIT6IT GU(HLOMEOILD &IT6T0TS.

A) e;.300 B) e,.310 C) ep.415 D) em.425
ellerssLomenr ailenL:

A, B ommibC uflest ep(mpmem Qongs eu@slomend = 3x450 =
€5.1350
A OMIDB  ufer €GBT CTSHE euLOmeid = 2 x 400 =
¢5.800
B wmmibC uflest ep@mbmem QOMgs eu@somerd = 2 x 430 =

¢5.860
S.Bullett e mmeT eugpLomenTd =¢m.(800 + 860 - 1350) =
¢5.310
21)10056@ (G®OMeUTsS: 26Tem  JMEUGHH  @DEMMLILIHL

erevorsefledr &pmaif.

A) 49.5 B) 50 C) 50.5 D) 51

ellerssLomen ailenL:

(P& N ememmLILmL. eTen&eMstt &gmafl = n

1 eO@mhs 100 eusmy o6 @OHEMDULIEHL  6T6H0IS6r60T
cTeuTemN&emns = 50

S.Geslsuul L sgmEfl = 50

W(psseflsor  ggmef 26
Qeummlsv MW (RS &ET 615)?
A) 21 B) 23 C) 25 D) 26
ellen&somer eflenL:
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2n+5 2n+9
B) (n+2) C) (n+3) D)

A)

ellen&somer afleoL:

m+m+1+m+2+m+3+m+4 = 5n

=5m + 10 =5n

=>m+2=n ... (i)

GaLlsuul L symsrf
m+2+m+3+m+4+m+5+m+6+m+7

6
_bm+27
6
_2m+9 _ 2(n-2)+9 [2n+5
2 2 2

27)10 wneweujsefler spmefl wHUQUesr 35. Ueterry BTG
LTS ELSE 2 &Houy wHIQUETEYIDL wWLHMID 2

LD IT 6307 6L 1] & (61H &5 1 oLy LOSIICILI6BOT BB LD
aprsuUEEDg. Houy wHOQUEN eauPRSUULL HNDG
FInEflenwsd SHITeors.

A) 35 B) 36 C) 37 D) 38

afler&somen allemL

(35x10)+10

Smuy UGG QIPRISILULL 1IDE FrmE] = 10

28)Qssieneoruiled Hmuser (PG L &Feafl auemy QUG LoemLPuTleor

ggn&fl slemey 1.2 Q&8 @GMUIHMIS FHpem GTM LSS
wmyY QUM UGS TTER weuiler letey 2 Q&8
2 wydlmgl. erafléd @ @mUlHmIGHpem  Qulg  WemLpulles
SI6MEMEUS ST S.

A)1.2Qe.8 B)5.8Qs8 C)6.8 Q5.8 D) 8.6 Q&..8
ellenssLomen ailenL

6x1.2+x

=2=72+x=14 =>x=6.8
&5 aufl - CoHialled Qg Calsriguwl (LPmMm
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32) 25 ewuwensailen gynaf sew 30 HlGevneuns sew1sSL_ UL L ).
QI enLWeenLIL sTenL 35 HGeun eIz @ Lleons, 25
HGeon a1681m| FHeuMNs e1(Slwenio Lenesti SHewr(HLillg SSHLILL L G).
2_evstemwowinest snnail eTemL_

A) 30.0 &lGeun B) 30.2 &Gevn C) 30.4 Geon D) 31.0 HlGevn
ellens&Lomer allemL

25 wnesteunseflest sgnafl = 30 &l

Cwrgs eiemL = 25 x 30 = 750 &

750-25+35 760

= 30.4 &

sflwnen ggne =

25
33) e sGanslilseilen gnnafl euwg 7 eu@mLriger. Hiules

auLmgE Geis@b Clunupg sinsfl 6 e s sa(hFlaing
a1evilev, nuiles g
A) 28 eu(pL_rgan

B) 33 au(pL_Eisen

C) 34 au(pL_rmsen D) 37 eu(pL_Risar
aflen&somer aflenL

4 sGangflseilen gynafl = 7 eu@pL_rsen

Cwrss euwg = 4 x 7 = 28

gnwnflen auwengs C&issa 6o ggnafl = 7+6 =13
SNHEUNemSW sz aug = 13 x 5 = 65
gmunflest auwgl = 65 - 28 = 37 eu(mHLras6n

34) synafl Caussens oMl twesLHSSLLMHID FTngiseneg)
A) emniwnefls g B) Qum&H& gnnall

C) saL-([H\& gynail D) @enL_Klenev
allenL: gaL- (& snnail
35)a, b, c ullen gnnafl 12&b, c ullest ggnafl 15 e1eflev a ullew o Sl

S16T015.
A) 4 B) 10 o8 D) 6
allenssomen ailenL
%M:12:>a+b+c:36 ........ @
b+c=15:>b+c:30 ......... @

2
2 o @ 6o LA
a+30=36 =>a=6

36) mng allenemun(Hsefled m HMsQaL gL ssni QubHn

nesigen 72, 59, 18, 101 wmmib 7. yeuflen gnafl geo wng)?
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n(n+ n(n+1)
(21) 2 z(n+1)

Fal-(h& gnngf = =

Qwrgs 2 miiysen n 2

39) @ euELLlebL 2 6iter 40 mewTeuFSHafleL 5 LOMevoToUI] & 61T
Caialim@ eupailsvemev eTefllew FymEf WHLIGLevar 60.
Cueid 5 wrameuiser Waw@Gn Caiey T (LRSI DT &6i

SHAum(pgl 40 wreaveujseflen Fymrafl WHLICUe 60 eroré
SENSEHLLLULLTEL HG 5 Lomewreujsefler QLTSS
Lo SILICILICUIT 66T S & ITCTOTS>.

A)O B)100 C) 300 D) ergiexLBl6Leme0
ellen&siomen aflenL
5 wmemreujsanen Qrgs SLGLe = 60x40-60x35 = 300

40)6 Bus6T QHETEIL @ GELUSHeT sgmef auwg 25
24,6001 (R &6T. 31&6GHUSHN(HHG 45 euGlenL W (@ HUIT

QeueflCuMHw M@ HeL &G yHw sFymsif
A) 20 gy evm(hs6n B) 21 gyemi(haen
C) 22 gy evm(hisen D) 23 &y evm (e
ellen&somen aflenL

6 puUIseMstT COMTSS euWIG6x25 = 150 Sy 6601(H &6l
45 suwgiemLwl pUy QeueNGuiblw NE $16@HLDUSSHEL
2 ¢ifem 5 BUTSHeM6TQIOMES euwigh = 150-45 = 105

105
5 pujsenest &Qm&fl euwg = ?= 21 gy cu(h e

A1) au@Lilepienen 40 wnewieuisaflen sgnafl sienL 50 HlGeom.

S EfNlwennub Gsig s Clenew_neo gneafl stew_ 50.5
HCevneuns Flsfladngl. o ffwfen stem_

A) 70.5 FlGeon B) 71.5 &lGeun
C) 72.5 &lGeun D) 75 &lGeun
aflenésomen aflenL

40 wnewieunsefen ggngfl = 50

40 wneseungeflen Glongs siem = 50x40

= 2000 &lGevn
41 Gufles Y& gonafl = 50.5
S Elflwfen sTemL_enw X 616015,
2000 + x

Al =50.5 = 2000+x = 2070.5= x = 70.5 &lGeon
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ellens&Lomer allemL
30x14+x

31
&5 aufl - CoHialled Qg Calsriguwl (P
14+31 = 45

=15 =420+x =465 =>x =45

46) (w0 LHFH emHemDLILIL LST Guieo elesnsefilen gl

a) 20 b) 21 c) 40 d) 41
aflenssomer aflenL

WL ‘10’ ememMLILIEHL LIS 6T601&61M60T SFIMEIS
345+7+11+13+17+19+23+29+31

10

158
=——=15.8
10

47)12 wnswmeufsefstt ggmel QU 78%. 66% wHOL6G qT(HSS

LOmEwTel(HhH@G UHL LS LOmewTedssT e(heustl CEFESLILLL S

soGumgleten 12 wremeujsefsst sHafBhd 1 AHSHNSHDE.
U&sTs CFJhg LOmeuuedeniledl LOSILICILIGTIT 6Tele6T6)?

A) 66% B) 78% C)79% D) 67%
afler&somen allemL

12x78—-66+x _79
12

12x78-66+x = 79%12
x =12(79-79)+66 = 78
&5 aufl - CoHialled Qg Calsrigul (P
66+12 =78

2
§56BL 1 Fal lqemmed, Qg 12 sa (L.

48)cpeiim) eTanHefled (WHeL Qneu @ erensefler Fgmed 2,

&L sl Quean® aanseflsdr gyrefl 3 WHMID (PHEL WHMID

s 8§l ercioremflesr ggmafl 4, erafle cpetTm)  eTevoreafleir
FInEflenwsd SHITeors.

A) 2 B) 3.5 C)3 D)25
ellen&sLomer aflsnL

LGOI 6TEUOISEMET (LPMMGIL X4, Xo LOMMILD X3 6T6018.
Caeelufied QbhH&I,
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QeETR&SUULL. m eTstuseNedt Fymafl = n’

CeL Q&MT(HSHSLILLL UTWILILITL 1q65T Lilg

m eTean&eMetl Fa(b&HeL = FOTEFH x 2 MILIL|GHeMedT sT6o60N&6m8
= n’xm = mn®

BeiorBLD N eTerseMed symEfl = m?

Ban@Ew eumiium®

N 6T6uIGHaNelT Ga(hHeL = FUMEH *x 2 MILILSEM6T 6T6H0T600N5H6m &

=m?xn=m"n

SOEAUMPG NMEUHF| 6T6T0SH6eMed FIMTEH

= IMESHE 6T6001S6M60T For(hE 60

2 _MILIL|Serl6dT 6T6GaT600N 66018

2 2
mn-+mn mn(m + n)
= = =mn eflemwL_: mn

m+n  (m+n)
51)zhg eansefler ggmefl 140. e etevor QeueflCMMUILILL

m@. Bad 26ten menG erenseflstt ggngfl 130 erefew
QeueflCUIMMLILIL L 6T6T0T6M6TTTE: & IT6H0TS.
A) 135 B) 134 C) 180 D) 150
allerssLomen aillenL

ohg seansefer syngf = 140

C.angl suseiler sa@Gse = 140 x 5= 700

Gugild QeueNGUIHMUILILL 61650 X’ 6T657%.

Gaeeluied Q®h&I,

700 —x

=130 = 700-x = 520 = x = 700-520

..x =180
52)100 erovorseflsor QMSHE &Fomsfl 46. ety 16 eredrm
aaneflng udeons 61 ereimid 43 eretim  eTevTEAMNG

ugleons 34 er6iim HUMIGEOLTSH HANSHLLILUGHMG. CLOsYILD
Qwrgs eeuser 90 eausmEG udeomrs 100  eren
S SHLLULL . eTalled sflwmes synefenws &meus.

A) 50 B) 50.7 C) 52 D) 52.7
allerssLomenr aillenL

Qaem@éauul L 100 sansefe gymeifl = 46,
100 erstargeflett sa(ReHs0 = 46x100 = 4600
Caeteufied QbhH&I,
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ellens&Lomer allemL
34 wreueusefest gymarf stemlL. = 42
.. 34 wmewreufgHeilett QLTSS eTemL. = 42x34 = 1428

CaeTaNuled s, % =424
x = 1484 — 1428
SARwfletr etemL (x) = 56 HCeom
&5 aufl - Coialled QgL Calsriguwl (LPmMm
SpAFlwiflest elemL = n(UHW ForEfl — UsmpW! FINEH) + LS
e
=34(42.4-42) + 42.4= 34 x 0.4 + 42.4 = 56 &Georm

56)11 Gurigsefléd ellemerwmqw @ GCuULeaLG6T &Hev
synEfGeT meuGHGleenmy. euj Herg 12 eug GuUILIiquiled
90 pergmert SlgHFH UIMEG leuflenr gmefl 5 GmMEMGI
ereoflsd 12 GUTLisERSE VDG Sieuflar srmeflenws
ST 5.

A) 127 B) 145 C) 150 D) 170
allenssLomen ailenL

@@ CuLevGeilstt grmaifl ‘X’ [eiT&6T 616318,
Gaeeiluied Q®h&I,
12x = 11(x+5) + 90 = 12x-11x = 55+90,"".". x = 145
57)e®m GORLUSGHOD 2.dren FHs WLWOMID gruledr &yred
anugl 38 gyau@E 6. GLEID ASHGHWLUSSHEL HHmg, STl

oMb  seufseflsdr ©Cy  waefldr FyTEfl  euwg 28
91,6001 (5 B61T. 6T63fl6L LDGEFl6H QUWISHMEMS &IT6TITS.

A) 5 gy GBS 6T B) 6 sy6imi(p &6l

C) 8 sy cu@ssin D) 10 sy, cuor(hgeit

allerssLomen aillenL

LD&HEMNT QUG = (HM, HHenG LOHMID &M CLOTSHS 6UISI)

- (MU WOHMID Shensulem QOMES eI

= (3%28) — (2x38)

= (84-76)y = 8 sy GG G6iT

58)8 mupseflstt gymafl euwg 2 gyanBG 6T 2 WFSHHULGHME).
seugseflett p@meudlstt euwg 24-5@ udleons yHw HUY

CeisauuBHmI. erefled AW mufleht euwSHeneos &ITeurs.
A) 42 sy 6t51(H &6 B) 40 <y 6501(h&61T
C) 38 sy eto1(h &6 D) 45 sy eup &6
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ellens&Lomer allemL
ByLb o e1em @ eTetmsefett ggmafl = (39.20%5 - 41x3)

_ 196 -123 :£=36.5
2 2

62)50e01(phg 80 euemy 2 6iem  spHEMMUILIEHL.  6T6vorS 66T

FrnEfens &ITeoors.
A) 66 B) 64 C) 65 D) 67
ellerssLomer ailenL
5060 (5H&I 806UEHT 2 616 EMEMMLILIEHL. 6T6T0I%H6MT60T FITE(f
= S1+53+55+57+59+61+63+65+67+69+71+73+75+77+79 = g5
15
63)A, B, C, D wmmib E-ufler sgmaf euwig) 40 oy 6m@h ser. @dlev
A womib Buller sgnefl euwg 35 @G sHer, C wMHMID

Dullsir ggm&fl euwigl 40 gpau@B o6 ereviled E-ufler euwengs
ST 5.

A) 46 B) 48 C) 32 D) 40
allenssomen ailenL
A+B+C+D+E

5

=40 = A+B+C+D+E = 200

A+B =35 =>A+B=70

CtD _gyscip=s4

E-uflstr euuwig) = (A+B+C+D+E) — (A+B+C+D) = 200 — 154 = 46
64)3-6i1 QUEEHH6L LIELGITTS QBHTEHITL. (LPGHEL 6R6ITLIG)] 6T6u0r8 61il6oT

FynEfenws STeoors.
A) 12 B) 12.5 C) 15 D) 18.5
ellen&somer aflsmL

x(n+1
X QU(BEHSMHUEOEDETTS QETETIIL. N 6T6501SH66dT FIMTEFI= %)

:3><(9+1):3><10:15 oflemL: 15

2 2
65)e@m; eu@uLlleL 2 ¢en 24 wreaweusefler symef euwg 10.

Cuogid g ARwer euwems CegsEG Cung sgref eem)
2 wWyHmG). ereeflled o AFILGIEH UGS &IT601S.
A) 25 B) 30 C) 35 D) 40
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@6im GomEMG eraflldd  slemilullsr sgrefl QWSS

SIT6O0T 5.
A) 23 sy et (h &6l B) 24 gy 6tu1(hs6n
C) 25 sy euv1(h &6l D) ergieyLilebemen

aflen&somen aflemL

SiewNuNett Qs FUmEfl euwig X’ e (H&6T 616015,

S A1x- (26 +29) = 9(x -1)

=11x-9x =46 =2x =46 =x =23.

sTeaGeu SiwNuNetT FOMEHl UG 23 Y 6HT(HS6I.

70)P wmmib Q-661 Lomg Fymefl eu@pLomeard ¢5.5050,Q wmmib R-
61 rg &yrefl eu@pomerd ¢5.6250, Pummin R-er wrg

ggn&fl eupomerd €m.5200. ererflley P-651 DTG 6U(HLOM6UTS MG S
ST 6001 5.

A)3500 B) 4000 C) 4050 D) 5000
ellenssLomen ailenL
Caealufled QbH&,

P+ Q= (5050 x2)=10100 .... (i)

Q+ R =(6250 x 2) = 12500 .... (ii)

P + R = (5200 x 2) = 10400 .... (iii)
gwestur( (i), (i) mHmud (iii)-eow sal G CuTs)
BLO&G HenLLiug: 2(P + Q + R) = 33000
P+Q+R=16500 .... (iv)
gwettur(y (iv)-e0@mbE (ii)-186 sGsmeL P = 4000.
.. P61 1omg eu(pLomentd = emp. 4000.
71)3 an(BHEHSHG (VAT @@ SELOUSSHEL 2 6TaT 56TT6U6H,

weearailullar  wHMIL eufseflan  GWHamguilsr sgmred
g 27 gyaun@set WLOHMID 5 YATHHEHHG (P

wenerall WHMIDL Ghenguildr Fgrefl auwg 20 o6 6H 6T
eTeafleL SevmTeuiflett HHCUTMSW UWIENHE SIT6VT 5.

A) 35 gy6t1(Hh &6 B) 40 sy 6t01(h&6iT

C) 50 sy,cto1(hS&61T D) ergi6xLBl6L6m60

ellenssLomen ailenL

&6u16)60T, LD6meTTa]l LMHMID GLEhenGUTest SHCLTMSW QLIS 6o
S5O = (27 X 3 + 3 X 3) Sy 6HBS6I

= 90 y6u(HS6T.

GLHMG WOHMID LenesTNUNGT HHCUTMSII LIS Fo(hSH6L
= (20 x 2 + 5 X 2) g,6001(H&6T = 50 oy 6901(HGs6IT.
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seujseaflett euwHerr aNHenussr wWemmGw 11:18. er6vilevL

sieufsaflstt  sHCUTMSHW  euwdler  aNGHWLTFRISH NS
ST 600 5.

a) 24 gy aEu@ssT  b) 20 gy e Sei

c) 33 gyemupger  d) 21 gy 6B Sei

eflensaomen ailenL

FRIZHT WHMID HOPAFLONUNGT FHCUTMSUI LIS
WemmGui 8x MMID 15X 676078

Caemalluiled Qwha,

. . &x+9 11

¥ mbs@sel tne, 15x+9 18

—=165x+99 = 144x+162 —165x-144x = 162-99

=21x =63 :>x=9=3
21

. ERESTONGT HNHCUTMGI UG = 8X = 24 o) 6601(H &6
SLpCFLONUI6T HHCUTEMGHUI UG = 15X = 45 SL6001(H S
L GalslulL eNgHumgd = 45-24 = 21 gy600(H &6
75) &85 wHmID peHH6T HHCUTMSIW auWE aNEG ks 6T
womenw 5 : 4. ep6itm 2aT (RS EH&HGU NIME i6uysefler

auwglenr eN&Hgruser (pemmGur 11 : 9 erevilev oy 6o1rh 6ot
SHCUTMGW QUWMEHSH SHITCIS.

A) 24 B)27 C)40 D) suedpwimi&s (LPplg.uimg)
ellenssLomenr ailenL

&8J wHMID SYeThHeT HHCLUTMSUI UK (WOHDGI
5x gLeUI(H&6T HMID 4X S 6TT(HGHET 6T6018.
Sx+3 11
4x+3 9
=9(5x + 3) = 11(4x + 3) =45x + 27 = 44x + 33
—>45x-44x=33-27 = x=6.

S0 El6T FHCLTMSUI QUG = 4X = 24 965015 S6T.

CaataluNed QwmhHa),

23
76)8 QzmLjFSslwimer eTevorsefletr Fymai 7 6T6afléb (PG 6L

cperml erevorsefleor Fymail.

19
A)9 B)E C)8 D) 10

allenssomen ailenL
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9. LSS 6T

= euempwenm: y =log.x = x=a’,a>0,x>0
& log X e1601MIMeL SilqLomeerd 10 @LD. i.e., log x = logiox
F @QuWed L &M eTeTneL In 6Teml 6T(PSHLILIHLD

x=¢e =Inx=y

L &6mS alld)s e

QuBSSHL allf: @Cr sgragms 2mLw Q@n WHos
cruiGenlest  QUHSSMLIEVET6T DL SEDSWITENTE,  Sleuall(p
616001& 611607 DL &605&6M60T Fo(BHNGHGE FLOLDMGLD. JSTeUF),
loga(MxN)=logaM+logaN; a, M, N 0en& 6I6t08e6T,
a#l

aUGSHFHL allfl: ©Cj sigrEGams 26wl @@  Los
6763018 611601 6)(& &S 60601 LOL &6 SLLIT6I S, Qs 1@ SHusar
L &MBUNON(BHSH UGSSUNT L SMEDW  SLHSHNHEE
FLOLOMGLD. SISTEUS),

loga(%j =log, M —log, N.sa, M, N Bss siamaen, a =1

AB&HG alldl: @b ceucme H(BHEHSH6T LOL SNSILITENS HbHS
6T630T600T 65T LOL_&60) U606 EYOF:1:71(20) QU@ &G UGN ST
FLOLOMGLD. SISTEUS),

loga(M)" =nlog, M ; a, M \Bens cenisen, a # 1

Sigomenr wIMHMeL eNd: M, a, b ereiruen LOMS 6T6T0IGHENT
woHoid a #1, b # 1eefed,

loga M = (logb M)X (loga b)

a @@ Doms asur wHmib a #1 aefed, log, 1=0

GmiuY:

L SM&SHMmeNS Sevor(HLlgSH&eu) wmesr GuLLTlwiy

LOL 5605 S 6fledT LI6uoTL & 61T

= log,xy=log, x+log, y

= log, (EJ =log, x—log, y
y
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1 1 1
= log. 4+1log. ——= log. 4+1log. —x—
gs gs 254 gs gs 244

2

1 1 1 _
= 10g54+10g5E+10g52= 10g54+10g5(§j +log, 47!
= log, 4+2log, 5" —log, 4= —2log,5 =-2

2
A)log (*+y’) B) 2log (x+y) C)2log (xy) D)log=
y

ellerssomer ailemnL

log X2 + log y2 = 2logx + 2logy = 2 (log x + logy) = 2 log xy
3) (log, a x log. b x log, c) =

A)O B) 1 C) abc D) atb+c

ellerssomer ailenL

..logp a X log. b x log, ¢ =log. a % log, ¢ = log, a =1
125 % 625

25

A)725 B)6 C) 3125 D)5
ellerssomer ailemnL
125% 625

4) w4l smens:logs

log 5°=1= log 5

= logs 125 + logs 625 - logs 25 = logs 5° + logs 5* - logs 5°
=3logs5+4logs5-21ogs 5=3x1+4x1-2x1=7-2=5
5) log, (logs(logox) ) = 1 ereofleL x-6t1 LOFIMLIS &IT6TIS.

A) 512 B) 3 C)o D)7
allenssomen ailenL

log-x =y = a’ =x

log: [logs(logzx)] = 1

= 2" = logs (logox) => 3% = logx =>2° = x = 512
log 2=0.3010 wmmib log 3 = 0.4771, erevfleL logs 512

L SLIMLS SIT60T 5.

A)2.870 B)2.967 C) 3.876 D) 3.912
aflenssLomer ailenL

1
logs 512 = 128512

log5
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= log (a + b) = log (gxéJﬂog 1.
b a
Sigenmev a+ b =1.

11)logq 7 = a, eT6vileL logqo (%j =

1
A)-(1+a By(1+a)' ©) % D) —
) - ( ) ) ( ) )10 )IOa
allen&sLomer allenL

1
log1o [%) =logio 1 -1log1e 70

=-10gqo (7 X 10) = - (log4g 7 + log4g 10) = - (a + 1).
12)logqo 2 = 0.3010, ereoflsL log, 10 =
A) 69 B) 1000 C) 0.3010 D) 0.6990
301 301
ellen&sLomer aflsnL
1 1 10000 1000 1000

= = = G)fnﬂ')l_ -
log,,2 03010 3010 301 301

A) 1.6020 B) 1.9030 C) 3.9030 D) ergi6xLBl6Lem60
aflenssomer aflenL

log+o = log+ (8 x 10)

= |Og10 8+ |Og10 10

=log1g (23 )+1=3log2+1=(3x0.3010) + 1 =1.9030.
14)logqo 5 + 10g4p (5x + 1) =log4 (x + 5) + 1, eTerfleb x-601 LOHILILY

log, 10 =

&[T 60015

A) 1 B)3 C)5 D) 10
ellen&somer aflsmL

log1o 5 +10g1o (5x + 1) = logqo (x +5) + 1

—=>logp 5 + logy (5x + 1) =logqo (x + 5) + logg 10
=logqo [5 (5x + 1)] = log1o [10(x + 5)]
=50Bx+1)=10(x+5) =>5x+1=2x+10
=3x=9 = x=3

15) wHLILY &Teus: ! + ! + !
log; 60 log, 60 logs 60
A)O B)1 C)5 D) 60
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A) 210 B) 2100 C) 21000 D) 210000
allenssLomenr ailenL
log,x=10 =x=2"

s logyx y =100
=y= x'%® =y = (210)100 [x-681 w&ALHL NTHUNES]
= y=2'
20)log, 16 - 601 OFLIMUS SHIT60TS.
A) % B) 4 C)8 D) 16

aflenssomer aflenL

B log; 16 = n eT6ard Q&MEMGeUMLD.
&, 2"=16=2" = n=4.

.. log, 16 =4,

21)1728-6@ SlqLomeorLd 2\/5 2 ML U LOL SH6MSHEMUIE SHTEH01S.
ellen&somer eflenL:

log, ;1728=x asire;
many (23 ) =1728 =20 3° = 2°(3 f

cT6u1Gel, (2\/5)Y = (2\/5)é =>x=6.
st e, long3 1728=6

22)324-5© SiqLOM6ID a 2 LW L &M L 4 erefleb a-eir

LHLIHLS &IT6O0s.
ellen&somer eflenL:
092324 = 4 6160165 Q&MT(HSHSLILL (helTeng)

a* =324=3'(2) aemcaa= 342
23)10935 109,527-601 LOHILIEHLS SIT6H0TS.
ellen&somer aflenL:
logs5 1092527 = logs5 10gys3°
=logs5 % 310925 3 (9(h&EG aNHuledrLig )
3 3 3

log, 25 B 2log,5 2

24)log,[logs(log.x)] = 1, x- 601 HLEOLS SHIT6woTSH
ellenssLomen ailenL
logx =y =a’ =x

=3 |09255 =
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ellens&Lomer allemL

X =10gg512. ¢16015.

ceniGa, 8 =512  (21(h&GHGM SI6MIOLIL)
8 =8"=>x=3

~-loggb12 =3

allenssLomer ailenL

X = 109279 6T6t15.

sTeoiCeu, 27°=9 (SIH6GHGM SI6MLOLIL)

) =6y (@GUDWLD SllgLoTed 3 255 LOTHIIE)

33“:32:>3x:2:>x:g

2
log,, 9=—
27 3

30) wHUNES: logm(?’%J

allen&sLomenr aillenL

X = Iogm(ij 6T6OTS.
32

steoiGeu, 167 =3i2 (SIH6GHGM SI6MLOLIL)

(2] =(2—)5 (@@GUDUPLD SigLOTEILD 2 946 LOMDHDIS)

24x=2_5:>4x=—5:>x=—§

" lo S
%86\ 35 )T

31)swarunGaHamend Sis5s: logsx = -3
ellenssLomenr ailenL

|095X =-3
5 =X (21P5&5GM SimLDLIL)
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36)sm5©Es: log, 4+ logs(ﬁj

allenssomen ailenL

1 1
log, 4+ logs[mJ = 10g5[4 X EJ

*loga(MxN) = logaM + logaN]

[

logs( j log{ j log,57 =-2log,5
[
[

*loga(M)" = nlog,M]
=-2(1)=-2 *log,a = 1]
37)&m5ES: 1093128 — logs16
ellens&Lomer ailemL

128
logs128 — logs16 = log, —— T

M
‘vlog | — [=loguM —log N
o2t

=1ogg8 =1 [ logaa = 1]

aflenssomer aflemnL

3 —3l0g1p2 = 3l0g1o10 — 310102 = 10g1910° — log102°
1000

= |Og101000 - |Og108 = |Og1o

= |Og10125
|Og10125 =3 - 3|Og102

1
39)logs;2 % log,3 % logs4 % loge5 * log;6 x logg7 = gsmsr HlemLal.

ellen&somer aflsmL

l0g32 x 10943 % logs4 x l0ogsd * l0g;6 % logs?

= (logs2 x logs3) x (logs4 * loge5) * (log76 * logs7)
=10g,42 * loge4 * loggb

= (logs2 x loge4) * 10gs6 [*."log,M = log,M x log.b]

b “log, b= !
log, 8 log, a
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1 1

2+log,10 3
GMISGL QUIHSSHEL Q& BTD CQumIEUS)
2 +1og,10 =3 =1og,10=3-2=1
x'=10 (2G5&56M eIl
S.x=10
43)8568: logs(log,x) =1
ellerssLomer aillenL
logoX =y ....... @
DG, logsy =1 =3'=y  (2G6GHGM SiemolL)
Sy=3
y =3¢ T @6d LUHOIL log,x = 3 616018 HeMLSEME).
seGey, 2° = x (2105E5GM SieMLOLIL)
S.x=8
44) §i758:10g2(3x-1) — log,(x-2) = 3
ellen&sLomen ailenL
logo(3x-1) — logx(x-2) = 3
3x—-1 3x-1
log, =3 =2 =" (a(6G5GMD SiemLLiL)
x—2 x—2
_3x-1
x—2
GMIGGL QUIHSSHE Q& BT CUmIaIS
8(x-2) = 3x-1 = 8x-16 = 3x-1
8x-3x=-1+16 = 5x=15 = .".x=3

8

45)logs1125 = 2logs6 - %Iogs16 + 6logyg7 eT6vr HlemLil.
afler&somen allemL
2logs6 - %Iog516 + 6logyg7
=log, 6° —10g5(16)% +3x2log,,7 ~ log36—log 4 +3log,, 7°
= log5(¥j +3log,, 49 =log, 9+ 3(1)

=log;9+3log,5=1og.9+ log5(5)3
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G999 9999 999999

98

10. &(H 5 (G SH6V

(a+b)’=a’+2ab+b’

(a-b) *=a’-2ab+b*

(a+b)?=(a-b) *+4ab

(a-b) °=(a+b) *-4ab
a’+b?=(a+b)’-2ab
a*-b*=(a-b)*+2ab
(a+b+c)?=a’+b*+c*+2ab+2ac+2bc
a*-b’=(a+b) (2-b)
(a+b)’=a’+b>+3ab (a+b)
(a-b)’=a’-b>-3ab (a-b)
a’+b*=(a+b) (a*-ab+b?)
a>-b’=(a-b) (a’+ab+b?)
a’+b*=(a+b)*-3ab (a+b)
a>-b’=(a-b) *+3ab(a-b)
a3+b3+c3-3abc=(a+b+c) (a2+b2+cz-ab-bc-ac)

=(a+b+c) %(2a2+2b2+202-2ab-2bc-2ac)

= % (a+b+c) [(a-b)*+(b-c)*+(c-a)]

If a+b+c=0, then a’+b>+c*=3abc
(a+b+c)’=a’+b’+c>+3(b+c)(c+a)(a+b)
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4) (37'-4a )+ (37'+4) =

7 B ~ 25
A) — B)2x3 ! C)4x3 ! D) —
144 144
allen&sLomer allenL
(l_lj+(l+lj :l+l:g=2><3_l ellemL: 2"3-1
3 4 3 4 3 3 3
5) (3" —4") x (3" +4")
7 7 7 7
A) — B) — C) — D) —
16 12 144 26

allen&sLomenr aillenL

2 2
(Li(hl B I R L S Y e
3 4)\3 4 3 4 9 16 144 144
2+L

4
6) 5 _  STeufleL, X’ 607 Loglly wg)?
ZaaF ! I
3+——
1+—
NE B o)1 D) S
7 7 7
aflensaomen ailenL:
1 1
24— 2+
3ﬂ L4 24—
5 - 5 - 19
2+ 11 2+ 11 2+ 11
3+—— 3+—1 3+——+
I+ I+ I+
4 4 4
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m Y, B Yy, 13 D)2 Y
QaMEH WHNID UGS X -H0 QIGHF HLEEG HemL LG
2(X+ %) 2x2 4

) 3(x+%)+5 C3x2+5 :ﬁ
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3+ (V5] +2x3x5+3° + (V5] ~2x3x45
7 -(5
_945+6V549+5-6J5 _14+14_28

9-5 4 4
&H5 alfl - Coialled QgL Calsviqul (P

2037 +3)_28_

9-5 4
14)2" = 3¥ = 6 atfled, [Lr 1, l} -6i1 LI eTsiTen?
xX vy z
A)0 B) 1 C) 3 D) 1
2 2
allens&Lomer ailenl
2°=67=2=6" e @
3 =67=3=6" e @
Dx @

—z -z -z z

2x3=6" x6" = 6'=6" *

-z z I 1
=>l=—-—=l=—z —+—
x oy Xy
-1 1 1 1 1 1
=>—=—+—=>—+—+—=0
z X Yy X y z

15)Qan@ésiul Qe aansaisd /2,4/3,4/6

I &0 QUi e = Y6 1. B8E AW e = /2
CUHSTIL. FadmIseied 618 &if1?

A) | oL Gb B) Il Lol (b

C) @yeinGid o1 D) @peinGid Seupy
aflenssLomer ailenL

V2,4/3,46 = Baw (2,4,6)=12
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1N 7 1\® /7 1\® / 1\
3% 2% 2% 4°= 27,4,8,16 = /3 Qufiwsgy
19) &1pé a6 618 &ifl?
MV4>552583 B is>4>83>42
0 V2>83>34>45 p)83>45534>2

allenssomen ailenL

Va 45243

G 12’601 SIHEG sTHSSHRLD.

\12 1\ 12 12 1\12
12 =188 (3,4, 2,6) = {43} ,(54J ,(22J ,(3“}

4% 5° 2° 32— 256, 125, 64, 9
6TeoTGey &iflwiment an]an&i/z > ‘{E > \/5 > 6\/5

a b c a+b+c .
20) - =— = —ereflleb ———— eTeirLG)

3 4 7 c

A)7 B) 2 C)l D)l
2 7

ellenssLomenr ailenL

a b c

— =—=—=Kelem emau

3 4 7

a=3k b=4k c=7k
atb+c _3k+4k+74 14k

=2
c Tk Tk
21)(153x109) + (82x153) - (153x91) = ?

A) 14,300 B) 15,300 C) 16,300 D) 17,300
ellen&somer aflsmL
153 [109 + 82 - 91] = 153 x 100 = 15300
22) & (1 5 (5 &: l+l+i+i+i+ 4 !
"2 6 12 20 30 7 a(n+1)
oL 5 | o 2(n—1) o) "
n n+1 n n+l1
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1 1
A) 1+ B) x+4 C) —

x+4 X X
allenssLomen ailenL

:(L+§I}+xill}+xi2l}+xl3j

x+1 x+2 x+3 x+4 x+4
= X X X =

X x+1 x+2 x+3  «x
a 2 b 4 a+b
26) —=— oM —=—, ereafled -601 & GHIGHMmeNSH
)b 3 e c 5 b+c 2
&IT6O0T 5.
A)E B)ﬂ C)é D)§
27 20 8 6
allenssLomenr ailenL
a_2_38
b 3 12
b_12
c 15
CL GaLSLLL L NG
_ 8+12 _&
12+15 27
27) 2910 3 aaneo 4L g wgienus snens.
a+4b a+2
A)é B)g C) & D) &
9 7 9 7

allenssomen ailenL
2a+b
479 _;

a+4b
—>2a+b=3a+12b = 3a-2a=b-12b = a=-11b

atb _ ~llb+b -10h 10
a+2b —11b+2b -9 9

1
28) x =3 +\/§, ereféo x> +— WHUMLE SIS
X
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(x2 +L2)(x3 +i3)= 7x18=126
X

:>x5+x+l+L5=126:>x5+L5=126—3=123
X X X

=

A) £3 B) 4

o
+
N
=
+

1
m* +—=119
m

2

1) 1Y
:{mu_) _2=119:>(m2+—2J ~11942 =121

m m
, o1 1Y N
=m +—2=11:> m——| +2=11 S
m m QQ'
1Y 1 O
¥
:[m——) =11-2=9=>m—-——=43 &
\a

A)0C B)40°C C)80C D)40°C

eGewiledr grgmyenn QeuliLflenso= 98.6 F, 37°C, 310K
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(©) v0.4 =0.6324
pevmeo V0.4 #0.2

(C) a1ev1L1g) 2_svoTemLoUTEV 6360

(D) V0.9 =0.9486

0.9 <0.9486

0!'x1!x2!x4!1x5!

A) 4870 B) 5870 C) 5760 D) 4760
aflenssLmer allemL

o'=1

1'=1

2'=2x1=2
4'=-4x3x2x1=24
5'=5x4x3x2x1=120
O x 1! x 2! x 4! x 5!
=1x1x2x24x120=5760

38)wIHis smevors: 1+

1+——
1+l
9
A) E B) 2 C) E D) &
19 10 9 19
allenssomen ailenL
1 1 1 10 29
1+ = _— —=—

=1+ =1 =l+—=
1 1+9/10 19/10 19 19

39) e GaHTLLSHH6 10 eufleng (rows) wmmid 12 Higevseiled
(columns) LOMOJRISET 2 6iternen. Q6 LIMSEHSES QemL LUl L

Qgmeneve] 2 18 MHmID CHTLL GH6T UmMSHIL LSS
sTeemeLUNID @ BLLF QenLQeuafl e Ll Geiteng) eTeufied
CoMLL &6 Fengenssd Smeions.
A)2018 B)22.8 C)24 .8 D) 26 18
allensaLomen ailenL

@aICauT(, aflenFulepid 12 LDORIGET 2_6renso

@U&S6L 2 66 @ LRGN GCFIEHSHMOD EenL_uiled

2 een 10 WIMISEHSG QemLLUULL QFTsmeve] 22 L5 wmHmILd
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43)pmaui Hev1gl LewgHed 360 1 LIEIE &S @D, 460 1 LIkE,

L&EH&GD CBT(HSS5 Cuns 1S H(peen em.20,0002
weneuails @ SHIAMNT s16mDNe0 eung) Lisww S Hles ol
A) ¢1,.50,000 B) ¢m.48,000 C) ¢m.80,000 D) ¢m.60,000
aflerésomen aflenL

DE&XES) = %uré«.l@

1
D&HEHEHS) = 2 LIS

1 1 7 5
S Hlwyeneng = 1—(§+Zj=(l——j=—ur§u@

Lo emesIails &) % L@ = em.20,000

L1 lsin AL - M — 48000

44) o uenafluilev 35 wnewteuisen eh cuflengulley Klmg )
eneusSLILIL (heneneui. jeueunm| 18 euflemssan 2 eneneu. 30

auflensseflev wnemeuisenen Kim| s Hlevnev, 1 auflemsulleo
GoemeuliL(HiD wrnewieunseiles eesienilsena
A) 18 B) 19 Q) 20 D) 21
aflenésomen aflenL

35x18
30
45) @ eiewmisen 5:7 et ailflgs Hev 2_anenes. eunmlest Fo(hHe0

CaemeulILI(hID nessieUiSerlet 616vu16w5185 608 21

36 e16tilev, BB cTETIHAT WNeD6U?
A) 5,15 B) 15,21 C) 21,15 D) 12, 15
allenéawmer aflemL

(PS60 6T6w0T = S5X 616118
@newIL_neug) 6161 = 7X 616718
. Fa([HBev = 5x+7x = 36

12x = 36
.'.x:§:3
12

(PIFev et6vwr = 5x = 5x3 = 15
@newiL_neug) etevst =7x = 7x3 = 21
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0.0003

———==0.03%
100
50) (v3 ) x9? =3* x 343 arafed x - air iy
A) 2 B) 3 C)4 D)5

allenssLomen ailenL:

2 N (1+1 )
(3%)5 x(32) =3"x3 )
3%+4 _ 3x+% — 31% _ 3x+%

x+%:1%: x=5

51)m @eNlfer alemev ch.(x+y) SIBF (x+y) QeflliLgsemen
eUMRIl6oTT]. 6TeofleL Sieu] QBMTHES QLTESS QHTEMHSGHeMI X

OHMID y Sefled &mens. Cgyd x = 10, y = 5 eefled by
QeEM(hHS CHTMS 6T6L6EU6NT6Y?

aflen&sLomen allenL:

Qen(hss Qamms = @QeilleT s &ams < @euflleo

aleneo
= (x+y) (x+y )
= (x+y) =X +2xy+y
Ifx=10,y =5

sl QeMHSS QIS CGTmS
=10°+2x 10 x 5 + 57
=100+ 100 + 25
=Rs.225
ALL CLASSES HELD IN REGULAR CLASS ROOM &
ALSO STREAMING LIVE ONLINE.

ALSO YOU CAN WATCH 24/7 RECORDED CLASSES

RADIAN IAS ACADEMY- CHENNAI & MADURAI

UPSC, TNPSC, NEET, IIT JEE, GATE, SSC, BANK, TRB, SI
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a
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&

a:b=b:c @REG ‘C’ €6ITLG CLHETIMMTEUG, LOOHMID b 6T6dTLIGHI

@ueuiLmeug &FHaNHSHLIGL. SevevG b’ ‘@ WwmHmId C.6

grref sflaN&sLIGLD.
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b d b d
&1015 560 g &L06oT
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b d b d
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Y
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1
x0<:—:>x:£:>xy:k, @@ Henm rMed
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3 15
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gerur® @ O\(mHE)

3000000 = K x (10W)? = K x 100W?

KW? = 30,000

Vi, Vp, Vet6tiug eneunsHem cpeiiml L&Y Seumbmisit sTemL
WwenmGuw W, 3W, 6W eT6015.
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164) cwerm QumBL&efsti  eNmuemes  ellemeuseilsst  aNHSHLD
5:6:9 Qemeuseallest SIL&HS ellemeusalles eN&HLDd (PemmGl

4:5:8. (psed wOHMID eI  QUITEHL&efedT  6VMLILD
FLQIDeTleL epeiTm QUITIBL&aMed eoml aNHFMIGET (LPOHMGL
6T60T60T?

ellen&somer aflenL:

et QU@L Seflesr efiuensn allsmev (WemmGU
all.ally = 5x ell.el, = 6x all.ell; = 9x

LOHMID AHUMMHET &8 eTene

sl.elly =4y siei, = 5y sl.ell; = 8y
QarpsasuulL g, eoi.al;—alel = g.ai; — 9.al,
9x-5x = 8y-4y

4x =4y =>x=y

@eomu Fg5aTBL, Py = @XIOOZ 25%

p,= 6251002 20%  py = O=8)
5 8
FHeig&Se1 &g 25:20:12 %2 =10:8:5
165) cperm & glaTe] Q&mETLEND  LeLSOMITEID, B(HLD
weoGw 2:1, 3:1 woHmId 3:5 66T ANEHHHL 2 elTeng).
Qemeu  cpeTmOWD @@ QUi Q&MET&HEVEINL  HEVHSTED,
IHL eLHaMTeL WMMID HifleT aN&FLD eTeiTes?
aflen&somen allenL:
SLELEADITEL Il6rT6)
2 3+3 2x8+3x6+3x3 _16+18+9 43
3 4 8 24 24 24
1 1 5 8+6+15_29
348 24 24
AW Qsmeseveilsst ope0&ammed oI Hiiler oieney = 43:29
166) «@m Qamms A, B wbmmw C HA  epauBheHGLDd
NfssaM&eILEGHADE  AsSG  HaLsHs  QsTams,  B&HG
HenLHHmsll GuUTeL ep6Im WLKIG, Bs@ &S558 C&G

x100=12l%
2

SHmLssms Gumew 5 WLMIEG el A, B wpmid C 6o
LS URIGSHeNeT eN&gLd?
aflen&somen aflenL:
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12. auWIZ)| & 6T015 (& S6l
& gMHCUTMSUI QUG X 61601160 ‘N’ DLMAIG UG “NX" Sh@GLD.
€ FHCUTMSI! QIS X 6I(H&6T 6T6s1l6D N YemqHGSL DG =
X+n
= FMOUTMSU! WIS X SETN(BS6T 616160 N QY emgMESL (6L
=X-n
gl ab ereitm aN&HHHL QHSTEL ax HMID bx
Quullett (pHeTem) GCHIeYsafler ey allerms s e
QameT@GM aNaIms s Ens @ LaTearmed &ijs s LILL (B 6iTer e

1) sGeaflar sHCUTMFW WG UL  Glbhengulleor
awgleéd urHwun@. uUaTElFErG WETESHLEG  (WP6TY
Shmsulledr  euwgmerg — i@menfledt euwemsl  Gumev
(PLLLHRGTES QWHHSHF. SHCUTH ShnGuier euuwig)

A) 24 sy eui(h&ei B) 36 gyctu(h a6l
C) 48 sycui(h&en D) 50 syctmi(hae
aflen&somen aflenL

Q@B HHEDS
SHCUTH QIS X 2x

ustteaNysioi(h 0T (hHLG (Lp6dTL x-12  «2x-12
Gaeailuled Qmhl

x-12 1

2x-12 3

3x-36 = 2x-12 = 3x-2x = 36-12 = 24
Shengulleit HHCUTE euuIg = 2X = 2x24 = 48
USs YONGHEFHES (LpeoTeormed  A-6T  euuwig B-6r  euuigled
urslms Q@hss. SOHCUTMSW SeuTsetlstt auulg &S

34 eeviled, SeufHeilest FHHCUTMSW QUGS  Fo(B&H6D

6T6OT6UT?

A) 8 sy 6uH&6iT B) 20 gy 6t01(h6iT
C) 30 sy,cuv1(h&6iT D) 35 sy sto1(h &6l
aflen& sLomarailenL:

A B

3x 4x

3x-10 1

—— = 3x—10=l(4x—10)
4x-10 2 2
3x-10=2x-56 =>x=5
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5 (e E&EG MG Seufseils auSer aN&gwn = ;—2 =§
8 mujseflstt eprefl euwemg 2 YaUGSH6T 2 WHSHHLULGSME|
@dev 21 LHMID 23 PTG HET UG 2 ML IEUTEHEHSHS
ugleons 2 yHw HUFSHeT CEFIHSULBHMTIHET 6reoflev LSl
Qe npujseflar sgref euwg).

A) 22 ouwig B) 24 euwig  C) 28 euwig D) 30 euwg)
ellen&sinmen ailenL

L (HCTSHLONS 2 WG Qgs euwig = 8x2 = 16 euwig)
S.@neui(p BUTSelen QLTSS euwigl =21 + 23 + 16 = 60 euwig)

60
. oleusefleT s euuig = 7 =30 auwig)

Qe  gyursefler auuder alHgruser 5:6. Qyeaw®
AaTEsEHs5E NG Qeujsefllar euwdHear ealHgn 7:8.

ertflled 10  syauBGSHERSHEG VDG Qeujseflenr euwigeor
&G mi& 6T

A) 15:16  B) 17:18 C)11:12 D) 22:24
ellerssomen ailenL:

Qe (n openseaileit UIGISHET (LPMMGII SXIDMHMID 6X 616318,
5x+2 7

6x+2 8
=>42x + 14 =40x + 16 =>2x=2 =>x =1
10 oaEuEsEnsE UInGg Seujsefst  euwder NS Gris6n

_oxIH10 15 a6

6x14+10 16
Wem UETHHELSHG (W6 5 BUTSHET CSHTEIL (b
GewusdHear sgrefl euwug 17. YHWHTE @@ BGWHOS

. CaatauNed QHE),

Nohs Vet @GELuSHsT &Jrefl eawg SHAUT(PGID
AGICal. erefled GHamGuller HCUTMSIW CULIDSHE 5IT650TS.

1
A) 3 awig B) 2 auuwig C)1 Emmgﬂ D) 1 euwg)

ellen&somer aflenL:
3 YAnBEHERSHS (6T 5 BUISET Q&ML GG LuS et
Qures augl = 17x5 = 85 alg)
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[20x15+25x24j 300 + 600
= QG = ——— | WG
20 + 25 45

900
=| — |euwg = 20 auwl
(45j L] L]

12)pn6i@ OTESHEHSHG (D6TY HHLOEID CFUIS 8 6uoTe 6

whmib wenerailuilsst Fyref euwig 27 2),600T(H &6, 5 6u0T66T,
wenerall LHMID @eujsefledt HWHTS LHIMHS GLOH0Suiledr
sOHCurmsw  euwdleit Fgrefl 21 gymuBEHeT  6reviled
GLHmsUileT HHCUTMSW UWIMSES ST 5.

A) 4 auig B) 3 auwig C) 2 auwngy D) 1 euwig)
eflensaomen ailenL_:

S600T6U60T LOMMID  LDeneTTallufer FHCLTEMGUI 6UILIKEHT Fo(H&6L
=2 x 27 + 8 =62 auwg)

S6U0IE60T, LDmenTadl LDMOMID  SiUfHaTNT GLOHmGUTsT CDTHS
QUWISI6T Fa(hHed =21 x 3 = 63 eulg)

C.G@WHmGUler HCLUTMSU Qg = 63 — 62 = 1 allig)

13)100 @hengsailen sngil auwg 10 au@bLLb. Seuisefleo 25

Gunseflest gnnafl auwg 8 eu@LLb. LHOMIWE 65 Cuisailes

ggnefl euwg) 11 eumLLb. 1S Gpeen 10 @Gwhensaeailen gynafl
QUG

A) 7.5 au@L1b B) 8.0 eupL_td C) 8.5@ipL1b D) 9.0 au@mL_Ld
aflensawmer alenL

100 @whengseilen ggnafl = 10

100 @hengsefilen Clongg euwg = 1000

25 @uhmagseies gynafl = 8

25 @uhmaseies Qigs auug = 25 x 8 = 200
65 @uhHmaseies gynafl = 11

65 @YhHmasaies CNss alug = 715

S S suenen 10 @whensseilen sqnafl auwig)

_ 1000-(200+715) _ 85 _

10 10
14)@eieiid 10 gy ew(hisaileo Aullest auwig) Bs@ 10 oy em1(hsEhsS

(e @(HBHS S CLN6L @(H WL mISTGD. SHEUNS A, B 2
el 9 el S Feunns G(HHSTe Bulles sHELNMSW euwIG)

A) 19 gy emi(hisen B) 20 sy emmi(hisan
0) 39 gy ewm(hsen D) 49 sy ewi(hisen
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QUG DS aIen LI GLTeL 3 L G e1efle, Shenguiles
WG

A) 44 eu(mLEiser B) 42 eu@pL_rugen
C) 48 eu(pLrmigen D) 36 au(pL_migen
aflenssLmer allemL

shemsilen anugl ‘T eess.

waefles euwg) ‘S’ e16s18.

QEn(saLILL L. SHaueoLIg

F+S=56 ... @
(F+4) = 3(S+4) ... @
F-3S+12-4

F=3548 @
T @il

S=56-F

@eng 3 6 pHui
F=-3(56-F)+38

F=-168-3F+ 8

= 4F =176 = F = 44 eu@mpL_msen

18)m shensulen awg Sei@mHenLiu waeflen el Guneo 3
LB, 5 eu@BLLD (6oL, Shensuilesn euwg) oHeflen ailenSL

Gumev 4 Lk @UGLNs waeailen aug) slemes ?

A) 12 B) 15 C) 18 D) 21
allenssomen ailenL

F=385 .. @®
(F-S) = 4 (S-5) ... @

@ e wdlewn 2 60 G Geus(Hid.
(35-5) =4S - 20
S = 15 eu(pL_Rsen
19) 10 g em(Hi&EHSHES (Peur A 601 euwg) B &1 euwengll Gunev 4

WLRAIED 10 gy eu(hseEns@U et A e euwgl B ullen auuengl
Gumev @(HOL K. QUGN B 651 aullig)
A) 20 gyewm(hisen B) 22 gy emwi(hisen
C) 26 sy ewi(hisen D) @emeu e15i0|i5le06m6v
aflenéamer afleL

10 eu@pL_Eis6n (LpevTL| e,
(A-10) = 4(B-10)
A-4B=-30 .. ®
10 aumLrisen &858 auugl,
(A+10) = 2(B+10)
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. m. 2 ) . ;
IIbG Clsng Fleo 3 LGEDW G631 PSS LLE®ISE
Qan@sdmnes. (i.e.) %x

SiFlev % UGSemL el Fe1 Qenen FCHTSIW)ISH S

Anmit (i.e.) 3(2szzxzx
AGED 8\ 3 8 4

X
s1681Geu @enenmu &es QUMD LIS = 4_1
4
23)gmbleir e ulledt euwig JrSleT euweng afl e6iTm)

LLREMHG Ced JHswb. CIb 8 g a(h&ELsHGL LUIMEG

ShemGullet auwig FrLbler euweng el Qe en LOLMHIG
AFsD Tefled 8 o aTEHEHSHGL NME JrileT euwensLl
GumeL leuflett HhmGHuiledr UGl 6TSHSHEM6U LOL Mhi(G?

A) 2 DLRIG B)Z%Lm_rr'u@ C)Z%Lm_rr'u@ D) 3 1bL_mi@

eflengaomen ailenL

gmblest HOHCUTMGII UK X o4, 630T(H&6IT

LOHMID S6UTGH FhenSuleit SHCUTMHGUT euuig =(x + 3x)
S EUOI(HE6T = 4X 24 6501(H &1

(4x+g)=§(x+g)

—=>8x + 16 = 5x + 40 = 3x=24 =>x=8

(4x+16) 48 _

(x+16) 24

24) eypeitm) pevni(y @emL_Qeuaflulled NMHH S5 GLpiHem g s el

CoHLEIULL. LOLRIG =

W6T saBHeL 50 9B SH6T. H6L LS EFHMwieuleor
UWIENGHS SIT6V5.
A) 4 oy GBS 6n B) 8 sy cimi(p &6
C) 10 sy eto1(h 6T D) ergi6xLBl6L6m60
ellen&somer aflsnL
GLPHMGHEMET UG WemMGIL X, (X + 3), (x + 6), (x + 9)
LMHMID (X + 12) S,6801E &6
X+ (x+3)+(x+6)+(x+9)+(x+12)=50
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S0 El6T HFHCUTEMSHUI QLG = 4X = 24 Y 6601(HS6T.

28) s HUY 6urgl &R euwemg il 24 9y,6uo([H &6l

s, Qe @ Hefled eudleit oG Sleung)

a&efler auwamgL GUITed @(HLOLMIEG &M 6reufled
&6fl6lT HHCUTMSHW QUWIMSHS &IT6H0T5.

A) 14 gyeioi(hsen  B) 18 gy etor( e

C) 20 syemoi(h&eit D) 22 oy 6u01(h St

aflen&somen aflemL

D&6EN60T HOHCUMENSII UIG| X 4,6001(H S6TT.
steafled mLIfledT euwIg = (X + 24) gy eia1(H &6
S(x+24)+2=2(x+2)

=> Xx+26=2x+4 = x=22.

29) sy ANEHELHS WL, STTSHS WHDID &Comafsn

auwglett eNFgmuser WemmGwl 6 : 5. BTG 4600 ([H & EH&GL

Um@ Qeungseflsr euwdler aNdlgrusser 11: 10 &mg)
eTeafleL HCemralst HHEUTEMGHIW UWINSHE SIT6U0TS.

A) 16 syeii(hsenr  B) 18 sy etor(h a6t

C) 20 gyetui(haeT D) suedpimiss (LI Ing|
ellenssLomen ailenL

M YEFTEHEHS (P6TY BMIHES LOHMID SCEIOHT LIS
WemmG 6x MHMID SX 616518,

(6x+6)+4 11

(5x+6)+4 10

=10(6x + 10) = 11(5x + 10) =5x =10 =>x =2.

&Gamadstt HHCUTMSHIW iG]l = (5x + 6) = 16 gy 6TuEHS6i.

30)5mHmg WwHMID Weeid HHCUTmHW auw s sabH o 60

NG SHET. M SYFTEHERSES W6 SHenguller aiwg

&6fl6T eumL CUITEL VIHGI LOLMIEG eTeflsd 4m
TG SHEHHGL NMEG &aN6ET aULmES &T6os.
A) 12 sy6601(H &6 B) 14 <y 6t01(h &6

C) 18 syet1(h &6t D) 20 sy suoi(hgeit
ellenssLomen ailenL

D& LOHOMILD Shenguledt HCUTMSI e (LPHDGLL
X HMID (60 -x) Sy,6801(H Sel

(60 - x) -6 =5(x - 6)

=54 -x=5x-30 =6x=84 =>x=14.
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7x = 28 gyen1(p&6T MMID 9x = 36 Sy,6001(h HeT.

34) aisHullen sHemHUTsT 38-2410 UILHE 4THSUD WHDID
Sruileir 36-9410 UWH L JUTG FCHETHTWHLD LNMHS 6.
G sieufler #CaHTHIT FHHlemw el 4 auwig)
@enemweuy erarflled seujseflett QUHCOITISefler euwig)
aGHUTEHMGHS &T6H0TS.
A) 2 gy cuB&eT B) 4 oy6uiBsem C) 6 oy sia1(hset D) 8 oy 6o a6l

ellerssLomenr aillenL

SIHHUNeT FCHETHTT NMEG CUTH eurfledt HTuNedr eI =

36 Sy, 6t01(H SN

IHHUNeT §CHETHTT NMEGD CUTH Hefl6tT ShenguTest

QULIGI= (38 + 4) Y TuES6T = 42 ) 6601(h SH6T.

CaLeUULL eNGSHWNELD = (42 - 36) ,6001(H&6T = 6 Sy, 6001(hSe6T.

35) @ pufler HHCUTmHW euwig Seufler sruller euwdledp 2/5
UGS 8 Ao HEH&HGU UNEG ieuflem euwgl Smuiler

suwglev 1/5 uGd ereoflev Gmuiledr HHCUTMGHW EUWIH 606 S
SIT60IT 5.

A) 12 gyeioipsen  B) 11 sy etor(sen

C) 40 syemoi(hameit D) 10 sy 6001(h &6t

allen&somen aflemL

STuNesT HHCUMEHSUI QUUIG| X U,6001(H SSIT.

SihG BUFleT SHCLTEMNSGUI UG = [2xj 9, 6001(H'G6T.
5

@ng =%(x+8) =2(2x + 40) = 5(x + 8) = x = 40.

36)Q ereirueuf R ereirLeusmy el Hmiweur gyermev T-smw afl

Quilweuy. R womib T ullesr euwidleit a(BHeL S50 3y 6u01® &6l
ereefleb R wpmid T-ufler euidest aNldEHWITFHISMmENTS &IT6uoTs.

A) 1 syet01( B) 2 gy cimi(haein

C) 25 sy cuv1(h&6iT D) 886160 GUTHILDMEIISHTS @6LETIEV
eflensaomen ailenL

R-Q=R-T = Q=T. R+T=50 = R+Q=50.

st6arGe, (R - Q) §&6u6L CUTHILDTEIHTE E6L6M6V.
37)10 o4, (B&HEH&HG (W6 SihmGHuller eulwig Lo & evfleor

alwmGGL GUITeL eLpeTm| L MIEG. 10 g anB&Er&HGLU UIMG
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13. 565D

= gHeiBID 6l6TLG (b eTetuenemr 100-651 LN6HT6ILOTS LOTHMIEUS)].

@aemerr “%” etstim GOWIH cpeod GOICUMLD. THESHSSHTL B
65% st601LIg 65/100 91606V 0.65
6T.5.

1 L 00=s0% L= L1ii002331e
272 373 3

L os 1o00% L1620 Lo1a2y,
4 5 6 3 777

11
L onte Lonidoy Loy Lol L gio
g8 27979710 112 3
‘P’ eT6tTLIg) ‘Q’ 6TCHTMTEIITEL,

§5al WMHMLD = Q;PXIOO

Q- P <0 e16tMl6b @6mmbHGIeTeNg).

Q- P >0 et6tMl6b Golquj6engy / e iLIfhGI6Teng).
@ HSHl6T &SN QAFHTMS Y6uTqME& Yo 2 WTHMSI 6T6aNeL
n’ YENEHErEGL MG BT &S QFHTns = 2 65IT60LD

n
r
&S Qgmemns (P)x |1+ ——
2 ) ( 100]

@b HSH6T &S QAHMeNS Y6HmaMEG % 2 WFHMSI 6Teviled
N YFNESHEHHS (P6ITL HEHF6T &S QHMTEns =
2_GESTemID LDSSH6T O] SHTEnS

1+
100

X 61601 676001 Yy 6mI L r% SHSLD 6T6v7l6L Y 6T60TM 6T6H0T X

oW el Gmmey FHaTBLD [IOOr xlOO)%

+r
X 61601 616001 Yy 6wt ML r% GemmeY 6T6vil6d Y 6T60TM 6T6H0T X
r

ol el 3Hs FH5IHLD (10 XIOOJ%

—-r
@@ Qur@mefstt alsmev r% 2 WFHAME 6T6fled elemnevsmiL
2 WITHSMOED
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(=50)(50)
100
=25 aNlenL: 2.5% BLLLD

3) @@ Q&TaTHN SHSHFHLOMETT LITEL 2 6Tengl. HeNBHE 20%
dESSILLE AHMG uHeons B CaissLLGEHmS. QCs LTEf

= -50+50+

Qeoispid Qreoi® (Weom QFILINLGHDS. SOCLITE LITedlsdt
SILJ&HE 6T6dT60T?

A) 40% sSILj§H B) 50% 2iLi5S
C) 51.2% siLj5H D) 58.8% sILj&#
aflen&somen allemL
LImeDd By
100 0

(1) 100-20 = 80
(2) 80-16 =64
(3) 64-12.8 = 51.2% 48.8%
@@ FOUES (P&ECHTENGHSET LSS 20% GmMESLILLLT6D
uglileney 61656 F5aI5LD HHSHEGLD?
A) 46% B) 64% C) 40% D) 36%
afler&somen allemL

Xy
X+y+ 100
= 20-20+ 2220 _ 404 4= 36%

61601Geu 36% GemmULd.
@ QFeueussHS6n eeuQeumn Lflesomopd 200%

HSHSESILGEDEGI. 6Teofle0, LIFLILIOTEY 6THFHEM6 F&HATHLD
3185 &GLD?

A) 300% B)200% C) 800% D) 600%
aller&somen aflemL

200+ 2004 209200

10 x 10 30 x 30
ugly = 100 ugly = 900
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= 100% = 250:>£><1002 22%
250

6) A-uflett su(pLomerid B uflesr eupomendend el 40% @Gsnmey

6161160, B -uNedr eu(pLomesTd AuNest eUBLOMETISHmS L
155N FHIHLD HHSLD?

A) 60% B) 40% C) 66.66% D) 33.33%
allenssLomenr ailenL
A B
60 100
(P) Q)
~2-P 100
P
_, 100=60 100 = 66§: 66.66%

&5 aufl - CoHialled QgL Calsriguwl (LPmM
R 100x40 4000 200
x100 = = =
100-R 100-40 60 3
@@ GCHIaNed sHaNgsHed 80% wrawiafset GHIFH LHMID
75% Syrlevg ey CHTEN AUBADMISHET, ANCHCHIWD 15%
LomesuTeU &6 @evn(h LML MusaNeid CHIEFS sl WwaTevmev.

= 66:66%

350 wmewreueen @etoi(h UM Miseflevd CHIFH QUMIGDTTSH6N
steoled G ey 61(pHwl Qomgs LomeuutedEHalles eTeuuIenN&em s

6T6T60T?
A) 500 B) 450 C) 540 D) 550
allenssomen ailenL

b

HonflHL0 15
80-x+x+75-x+15 =100
-Xx=100-170 = x=70%

EXT=3SO:>T:5OO
100

&H5 G alfl - Coialled Qg Caleviqul (LPmM
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110m + 864000-108m = 872000
2m = 8000
= m =4000
&H5 G alfl - Coialled QgL Caleviqul (P
M F
10 8

N/

9
1/; \1 — m = 4000

10)2(p LsTaN&EFal GH60 75% Lwraeusenr C&&s 20
LomesuTeU &6 GCHIEFS SienLwlaileLenen. @6l meug)
UeTe&8al_s&l60 GLMSGIL LisTeM&snl_Sm&s SMlgeid 20

LreTefEen AHsns Caige] e(pgiHemery. 10 Lomevmeufsen
SIQUTHMET STLIGEID GG CHTFH 6L H6aTMmeDI).
QeI meugl LeTeN&dal G560 CHIFH FHIELD 6Tsiter?

A) 60 B) 70 C)75 D) 85
allerssLomenr ailenL

T = QurgsLd
20=25%of T

T 20x100 g0
25

@yeioTL_meug Lisieril
Qs Lmesmeufset = 80+20 = 100
GCaie8 gmLhgeuy= 60+10 =70
.CeTEH % =70
&H5 G alfl - Coialled QgL Caleviqul (LPmM
1) 25% =20
= T=80
) T=100 = P=60+10=70%
11) @ueioi® CUISeT LRI QuUHM (b CHITHEOL ep(hHeuy 12000

aImé@ aGHLTESS Ceunml QUMIADT). CFLVESSHS

UTEHG &6 sTetutemnsens 92000. Qeumml Qubmenj CHmeve
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eoMULD % = g>< 100 = 30%
400

41)5aill ereitueul @@ CLamP@enw ellmuger cpeod 25% eomuLd
AMLEDTY. yermed  afllbusner  eflemeouiled  €;.240

GODOSEDTT Q&ML 6uf 5% HEQL LD AHDLHSHT6L 6T6vfl6L
WhHmsWw allHuUmer allemevmls &IT6uls.
A) 800 B) 1000 C) 1040 D) 1120

aflenssomenr allenL:

“y "

IL &5 allemev “X
30% of x = 240
x = 800

epuener aflemeo = 800 X% +800 =1000

42) sp(p QuTerfledr 6LML / (1) HEQL 6TMG QAUT([HSHG SIEMLOWILD

A) 9lL&s allemev  B) elmuenesr edlemev

C) @M$s eflemer D) sen@sLig
allenL: L5 aillemev

43)@m Qur@pener eHm 8% ool D SMLUSNG LS 8%
emuld  AoLsGMm  aHslIuGHAME. QFHEIMDL  HS

aNMHLMEITLTON([EES €512 Fa(BHONEH HMLHME). 6T6t60L 31%65T
3L ES mELEmUS SIT6T0TS.

A) 50 B) 75 C) 100 D) 120
ellenssLomenr ailenL

SIL&S leneL ¢ X 616015

108% of x -92% of x =12

16% of x =12

x:12x%:75 eflemL: 75

44)10% 20%, wmmid 40% e6aIm QHTLY  HeTEpLigenl Gy

SETEBLIG TS SHT6Hu8?
A) 50% B) 56.80% C)70% D) 43.20%
eflengaomen ailenL

o giotemld elemev = 100

90 80 60

00 x X X
100 100 100
=43.20
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eflem: 15%
48)fev g lUTNessner  aNMeLES® UMHRIGHADTISET L 5

gunemer ¢p 10 6@ eumméd), 6 gylenen ¢h 15 &@ eNmUsme
QELIGTL ML GG 60l FHATHLD?

A) 35% B) 45% C) 20% D) 25%
allenssLomen ailenL
om%= 22" 100

nx

o 2x15-6x10 000,

6x10
15
= %x100%=25% eflemL: 25%

A9)e®m USHHSME 5144 &© elpumsn  QFEULIWILLGH DS
GoeyiLd Siexmmeor 6OMMLI(LPLD IIL &S eenevULD

cTeuuTemNSGemSBUNeL  FOWD 6Tl SIIUGHFHEHHH6T  ISIL&S
aNEMEVEMIIG HIT6H0TS.

A) em.72 B) .80 C) ©5.90 D) em.100
allenssomen ailenL

3IL&S aflemev = Rs.x 0mu % = X mHmib

ellhuenen ailemev = Rs: 144

100 + eomuin%
100

144 = [100+x]xx

100

v =144x 100

100+ x
x> =100x—14400=0
x> +180x—80x—14400=0
(x+180)(x—80)=0
x =80
50)m SML&GSM @@, Qur@Gener 20% woHmIb 5% &eEnpLig

Qan(hss UMMIGHDTT G560 GMEH elemev 25000. Sieuly
SQUMTLeMedT 2 6o LIpGISBmen 568 ¢, 1000 Q&eve] QUG
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x =300
QUL Teug QUT@HeN6T SIL&& eflemeo= XX 75% =375

= x:375x@:500
75

2 QumpLseflss o eN= 500+300=800

BegL b= .60 — ell.ell = 800 — 750 = 50
53)@m SMLSGSENT] 60T suMgSHmsTenjsensd 10% &eeplig
&h&Id, 10% Qeomud SIMLADTY. €@ QUITIHEET 2 6TuTemLd

allenev  ch. 720 ¢T6olled  HUQUTGHEMN6HT GMNHSH NEMIBVEMILIS
SIT60018,.

A) 790 B) 800 C) 820 D) 880
allenssLomen ailenL

100 + eomuibd % y

= . sl.el
100 - megpL_10%
110
= 50 x720 =880 aflemL: 880

54)ep Qum@enr @puetni(h HUISHeNEL Q&F6TH MG AHSHHT &S

allemeouNed 40% eomud HeOLEHMG. (PG eNDHLIEHETIITENT
20% eomud SEOLEMMY 6Teolled @IEHUIILMD LT  6Tel6U6NT6Y
§56HD eLMULD SiemLeUMy?
A)15g B)16g C)13g D)11%
3 3 3 3

aflen&somen allemL
3L &5 aflsmev = Rs.100
elmusnsn ellsmev = Rs.140
100x120% % (100+ x)% =140

120 (100+x)
X —X——F=

100 100
6(100+x) =700
600+ 6x =700
6x =700-600=100

100 =140
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57)oLss alenev LOHMID elnHumer almevssrear &g 10:11
6T6tTl6L 6UML FHATHLD 6T6M6UETEY?
afler&swmer aflenL:
@@ Qur@peils SIL&S eallemer WLMHMID almumer  allsneo
10:11

aflmtsnar allsnsy - YL S5 allensy

x 10

&5 allsne

:ﬂxloo :@:10%
10 10

58)10 prmaTediGefstt  eleneowimeng 16  BIHSTOGHT OIHM

allMeVEGHE FLOLD. 6T6Tled ML GG ool L6V HLL
F5IBLD SHMEHIS.

eller&sLomer ailenL:

@@ BTMHSTEOUNET L 685 alemev €h.1 6T615.

616760 10 BIHSTENUN6HT L 58 allemev ¢5.10

10 prH&Tedlullstt eNmLsns ellensv= ¢h.16

eomuLb% = (% X 100)% =60%

by
59)semeul 1 LQ6HT 4TEhd €Hh.X & 6UTMHISH 15 6M6u Clh. E@@

e eTeor HHMTY. UBSHG HML&GWD @evmLLD
(eh.6116D) (b ST(EHESHE eTeUeIETE?
allerssLomer ailenL:

x x 6x-5 x

= @eomuLb= x
60

10 12 60 60
60)meuy Q@ GIHOrsHmen peuCeuraremmwd ¢m.990 afli(@Ld
Qum(psl el allsmevuileL 10%  somuUGMGUWLD,

whamrearmer eflmeouilsd 10% mHegL HmHWD QUMIB DT
ereefleb oieuy QUMD @eomuLd (1) HeQL LD WHMID ieummies
& GhismNS &ITEuS.

ellerssLomer ailenL:

@ma] Qo GHapssner geom 990 &@ eNmH&EMIT).

WHL GHemruilett 2 6GoT6mLD 6165160

alpusne allsmev = 990, 2 6alend eTem60= X

ol &gaipbd =10
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63)@m elpusmerwmery @ Cum@meflsi &5 eflsmeouilsy
100% 2wisdH QwQurGefled GM&HADTY.  Cogyibd

AuQur@pener  eflbusner Qewww Gurg 30% HeTEpUlg
QamESHETY  6Teflled  S6uf SMLWSHSalqgll 6OML  [HEQL
8561556085 SIS,

ellerssLomer ailenL:

SILES ellensv ¢m.100 616015,

Cugild GMN&s ellenev ¢5.200 OHMID HetEpLig = 30%.
alpuene alenev = GMNSS alemev -30%

200-60 = 140%

eorud =40, eomu §gaiEd = 40%

64)20 Qur@Lsefladr &8 eallemeowmearg 25 QurpL & efleor
alibuemenr  allmevsHGE  FOW.  erefllsd  eoMU  HEQL
5601556085 &T6U5.
eller&sLomer ailenL:

x 100

eumium(y:

20225 100 =22x100=-20 Beiol §HaBLD = 20%
25 25
65)A-etr eupomeid B-emw el 10% HSWD  ereflléd  B-gir
aU(BLOTEID A-6T eUHLIAMIGHME il d&HGHmT FHaIHLD
&0eY.
eller&sLomer ailenL:
GCaemaluNed Qrhg. B = 100 wmmid A =110

19 10012 9 L o 2007 oy
110 TS 100 + 7

66)A eretucuy spp Qum@pemen B &© 20% eomusHH©
efihusner QEWHMOIY wHMIDL HCH Qur@Eemenr B ereireury

Cs® 10% eomusdHmE oallbusmer QFWGTT  6TevfleL
AUQurpemen €5.528 QanB g C eurnudlermy eresfleo A-ulledr
AL &5 allenev wg)?
aflen&sLomen aflenL:

A B C
x 1.2x  (1.2x)1.1=528
528 52800 4400 _

¢5.400

X = = =
1.2x1.1 12x11 11
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@en(n QUITHETSH6NT 6R6IMTS &He0HSLILGHMEG! 6T6vTl60

&®DhHS allenevwjenL_w 6l Lnmeflen en ey |
91918 alemevujenL_uwi 6 Linheflen e ey

s allemevujen_w 6 LnpHefles JiL_&5 ailenev - &nn &l allewev
gqnafl aflemev - Geonhg allensowjenLw 6l Lnmeilen &8 allenev

GMDHS ONEMEVU|6TL LI 315s N0l |emL L
Qummeilest SieTey Qummedlest SieTey
(a) (b)

Qg G)iﬂana)\(}) /
(b-m) T
C(@omnhs elaeowemiw Qur@mefsst sietey) @ (1S
aflemevwjmLwl Qurmefett semey) = (b-m) : (m-a)

T @m GGmeuuned L el Syeud 2 6engl. @HL QmHE X
sl fgaugms dGSHNNE B CejsaLLGHDSI.
AGCsGUTeL N QFWNISGL DG, Hevemeuuiled 2 6HuisnLd

o xY
Hyeug e sleney = {L(l—zj }

Qouilear  (pGeiTemn) Gy Feyseflenr SHewflg allearms e
QameT@Gm aamssEnsE LaTarmed $ijssLLL (5 6166

1) 3uEH B 5 uGH WHHFILD ASTEITL &eomeal
GG meuuiled HiyuLLLGEMGl. CoeId @& G0 meuuilsd
BmHE eTeuaueane Hevsneuamw (hEHG LB Kooy CajsH@GLd
Curg @&seveneuuiled UTE HHb, LUTH LOHHGILD
Q&MEILSITS LOM(HLD?

1 1
A) 3 B) " C) D)

1 1
5 7
afler&somen allemL

A5G Hemeuuiied 8 6O L] &yeud 2 6TenGHns
6165 5HCSMETGEUILD.

@R X OILLY Arasms aBss oG B CeissiLGHE)
U sevsmeuufssr Hiflest siemey = (3—3%+xj 0L LIy
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dRSSUULE HHGL ufed Hyeud B L Hbd
CaysaluGEmG. SHCUTSH SFainmiger A woHmib B uflesr

aN&GMIGT (LpemmGt 7 : 9. 6Tevlled gy rbuGHeL Hyeud A
6161666 Q\(HbS (h&HESLD?

A) 10 B) 20 C) 21 D) 25
aflen&somen allemL

SYIDOUGE6L LUTEHHTEHS6L 2 6o QoG Hyeumisenesor
Seuemeauullest eN&GmseT (PG 7 15 601G 7x LDOHMID 5x.
90ILLTy T(hES ettentj L& 2 6Ten HyeumiGe.

Syeud A= (7x—%x9j 6\31|;I_Ij=(7x—%j O L.

Slgeuld B = (5x—%x9j 66]|'_|_|']=[5x—%J e0IL_L[J

) 4) 7
(5x—1—5]+9 ?
4

=252x - 189 = 140x + 147 =112x =336 = x=3.
aemGar SybUSHE LTEHTHHD QBHS Heud A, 7x
Simeug 7x3=21

@@ alhusmearurerfl_id Qran@ Cseaflsv LT 2 dTarg).
W56L Caafled 25% B WBHuUNL LTEID 2 6iTeng).

28x-21 7
> =—
20x+21 9

@erLmeug Caefled 50% B QEHee. GeID 12 eSIL L
uTemev @euQeun@ CoHaflenid g emen OILLf CaiHsmedL Bif
WMHMILD UTeOl6 Sevemeu 3:5 6T LOMMILD?

A) 4 e0ILLT], 8 OILLIy B) 6 eSILL [, 6 60I_L [}

C) 560y, 7 QL) D) 7 eQL_Lfj, 5 e9IL_LI}
allen&somen aflemL

@5 eOILLI] umedledr elemev b1 6T6015.
WHH6L G 6vil6L

@ OILLI] &eveneuuiled UmTedesT Siemey = %Gﬂl'_l_l'j

@ OILLI] &evsneuuliest eNimUsnest ellensn ([5%
@esrLmeug) GaeofleL
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gyl eNemev ¢m.16.50

3.50 1.50
GaLslul L eN&gb =3.50:1.50=7:3.
@@® ChJmwWmm uTed aMwmumfl LT GH6T L &8
allemevdE MMM eomed Hlev §5615 Heang CaFHHMM

@)560T CLPEVLD SU(HSHG VMLD 25% HeML&HMG) 6T6vl6L
31&H0meUUND 2 6iTen BflelT FHATHHMES HT6TIS.

A) 4% B) 20% C) 6%% D) 25%

afler&somen allemL

1 60LLF umedlstT SIL&& 6lénev ¢h.1 6T6iS.

61601Geu eOIL L[] 1 Sevemeuuiledt eimLenenr elemev ¢h.1 Q&6dr
epeud 25% eomih &HenL&&HmE).

1 0ILL &evemeauusit SIL&& eilenev = ¢b. (%le:%
Level6nd Fal L 6D eMFLLiIg:
1 60LLy umedlstT SIL &5 allemev 160 L Bl oL &8 alemnev

em. 1 \

gynafl alemev

0 /
4
4 1
5 5
6TetfleL SevemeuuTlev Bifledr sHeiHLD

- (%x 100%} - 20%.

&H5 G alfl - Coialled QgL Calsviqul (LPmM
100-10 = 90

90-9 = 81

81-8.1=729

72‘3 x40 =29.16

Q@ CQeustiGoum aMlemev SieMEMeUs: CIBTEHIIL. FJ5HSHEMI] 6R6IMITES

506U (R S&HemelsmIt 10% eomuid smeuss HGeom
€5.9.24 6@ aHsLULEGEDG. CLOYID (LPSHEL 6UME &FiJ5HSH6MI]
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9) @0 Ghmauie allervd 2 6meangl. HeL 40% S,6050MT6D
sopgITeTE. @0 HNg Mavd qBSHIG ABHE

udeons 19% gevsammed C&I&SULLL T, SHOUTPS 2 66
&606meUUTIL 26% Y6L&EQMTL Q(HEHGLD 6T6TTl6L 6TEMEUETEY
cTelelene] LUm@ eNlervd T(h&HSLILLL G).

1 2 2 3
A) 3 B) 3 C) 5 D) 5
ellerssLomer ailenL
uevelend Fal L 6D eM&LILg.:
L6LHQMTEL CFMiaY]
WHH6L B smeu @eorLmeug &G emeu
40% 19%

FgrEf Q&m'l\m /

26%
7 = 14 T

So, ratio of 1% and 2™ quantities =7 : 14 =1 : 2
Required quantity replaced = %
10)umed OHMID B HVHS SHELEMEUMII ENMLIGE CLHGOLD 1S 65T
3L 58 allemeoulled 16%% UMD &HenL 58 Coueioi(HLd 6T6vTl6L

sTaNHHHHL LML HMID B Hev&Hse Celso(hid

A) 1:6 B) 6:1 C)23 D) 4:3
aflen&somen allemL

@@ OILL umedlel SIL&& allenev ¢h.1 6T6i18.

@@ OILLI SHevemeuuilesr eXlimusne elemev €b.1, LOHMILD

6UIMLILD ?%

1 0LL ] SevemeauuNeit SIL &5 ellenen = [IOOX%MJ:%

Levelend Fal L 6D eN&LILig.:
1e01Ly BifletT oIL&S efiemev 1 0L umedstT SIL&S allenev
0 ¢m.1
gynai Qﬂ% /
6
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13) WL eums SflfluNett eNemev HGCeom ¢h.15 LMHMILD

QeI Teug ausns SflHlust afenew HGeom €520 GLgyILD
PSL auems LMHMID QUL D euems ffenwt 2 : 3 6T651M
al&H5HH6L HLHGTL Q&HemaUUT6T HGeom allsney WITE?
A)¢r.18  B)¢r.18.50 C)en.19 D) ¢5.19.50
allen&smen aflemL

&eveneuuiler ellemev HGELT ¢Ih.X 6T6015.

Levelend Fal L 6D eM&LILg.:

WPH6L 6UMS iflSluN e @ e MeuG| 6umns SflHuNeor
@@ HGeomalst SIL&ES ellsney e HGeomallst SIL&5 allsnev

¢h. 15 em. 20
&Un&m —

=60 - 3x=2x-30 =5x=90 = x=18.
14)m GGmauUN6L euleht 2 6iTeng). SHeL 8 AL
dESHHONE MG UHed B CHFESLLEHDE. QCHCUTEL

GgId ep6iTmI (DM QFLISTEL SHS (hemeuuTied epuilesr
woHmid Hifler &G RS (LpeoOMCU 16:81 sTaIMMGLD. 6166
SEVEMEUEG (60T 216G (Hsmeuuiiey epuileoilett ojerey?

A)18 0Ly B)24 0Ly C)32e9L Ly D)42 60 L[
ellen&somer aflenL

HVMEUESG (6T & (Heneuuned 2 siterm epulenflett ey ‘X’

60IL L[] 6T60TS,.

4 QsweLWemMEHGL MG GHemeuulled 2 6ten spulleofledl Seey

Hl_gﬂ -

X 81

(-6
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&HeL60UUN6GIT IIL &S aIlenew = 44x100

= &Geor ¢m.40

uevelend Fal L 6D eM&liLlg, CaLsIUL L aN&HLD =
31

43
40 \\
3 9 ///
=1:3
3 UGS — 36 AGeor

160G 1 LGEH — ?

= 136 _ 45 sceon

18)6p(h suGLILTGL 2 6en LOMEEITEUTSHET 6(15 (LPHGWITI
ALeLHHMETE v QAFHTMGEENIL 6UF,ENSEMMIHET. 6L
e6ICeuT ([ malsmId €5.3.40 HmID eublaump

Lrswe&Epd ¢h.4.30 QaETEESDMIIST. eUGLILN6L 2 eTen
Qgg LomewiedjSailes Teenisemns 60 WHMID QT&SLONS
QUG 0GSHLULLL. Q5Tens €5.222 616160 6UGLILTN6L 2 6iTern
LDIT6BOTEUT&HET LDMHMILD LOMEuoT6X\&6Til60 6T6U0I600TI 60 SH6EDIIS SHITETIIS.
ellenssLomen ailenL

@6UQeuT ([ LMsueUfHeNLLD eugHeNSGSHULLL FITE] CGTemns
=222/60 = 3.7

. QUGLUILTED 2 6TTeN LDMEuuTEUT & MMILD LOmeusTegerflest
cTeuuTeuuTI&6mSHUTN6T QNEGMIGET =

34 4.3

3.7 ~ 7
0.6 : 03 _— N
=2:1

.. LomeuuTeuSeMedt eTevoreutn&Hens = 2/3x60 = 40
-+ omesmie &6t sTstoremNdena = 1/3x60 = 20

19) @ UTEATSHHD g L&aMTE WMHMID B H0HS SHeveneuuTsd
40% <e0&ammed 2 6tegl. @&led 10 OILLJ S H60SHQMT6D

GCers@ CUTE SILLTSHTSHSIL 2 616 Y 60HAMTEOIET 66y
50% &gaiBb &HmE sTeelled ULUTGHTES 60T (L (LD
Q& TETenemnels HITeius.

aflenssomen ailenL
aNAGLD =
443
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16. &600THIG 61T

= by 2 MUY @Q6LeUNH e(h HWID Qeumml HEWID LV
QaummMiL & sewrd (empty set) 6161 SIDWSSLILGEDE. QG
QuIgleuns ¢ Si6Levg) { } 616016 GMUNLLILGEHDS).

& ACB e6tm Sammleit Llg, A ¢T6MEDID 6(h HEIHHEL 2 6ien
2 MILULGHET HMEMSHID B 6T60T60ID SHe00I5HH6L SUMLDHS ([HSHMS)
eteoill  Qum@pem. @UCUTEH A Sewiomeorg B-ulleir 2 L &e6worid
slena b, B oewiomergd A SauigHer  GLOMSEID  6L6VE)
5l SEUTLD 6T6Ia|D MDSHSLILGEMGI.

= A oMb B g &l @@ sanmsErs@ ACB wohmid BCA
éteoT  @(bLILT6E, @QUeiti(h SHEWIMISEHD &IOS SHEWIMHIGHET I, GLD.
HBRUTMH A 6IHD HMSHDG CUDHMISHEIUPLD SihHSHE
&6001(LOLD TLIGLITG) 2 L' S600IMRISEMTGLD. a5} awm
2 I GRS EpD  QeuemaflemL 2 L &6oormIS 6l  6T6oTLILI(H & 60Tm 60T
Gogld A seuiomesig B-sit o L sawiomsea b A# B eleia|b
AmHSTEL A sauionearg B-@6T 5@ 2L &6wID sTerliubLD.
signeug B saugHedd @GoOMBHIULFID 6@ 2 MLUTOIH A
SIS 2 MIILTE QIHSSTEH. A 6T6TID (b  SH60TSH 560
2 _MILIL|S6IT SIS FILD A 6T60TE)ILD 56015 S Geo Gl
SIOWBHABLUSTEL AT A 6I60T60MD. QEHHMSUI 2 L HEWID &SI
o2 Lgewild eleoili(Bd. A, B etettm QB sSeooimiseNer GC&FLLS

&6U0ILD,
= AUB = {x : x€eA gebevg xeB} womidb Siger
QUL (B & & 6vorLd

ANB={x:xeA bppmibd x € B}

= A pmid B 9w Qb SHOHSERSGSL  CQUTSIeTsT o miriL]
JHILOGTN  SUMDHFHTL S6MeY COULLMTE SHEOMIGET Y GLD.
sigmeaug A mmib B g fuiemel Qall L mé SHeuhisen eTefled A
NB=¢ o@Lwb.

e A eeUg @@  &HID  eTefled,  A-6T MGG
2 I H60THIGEMOTILLD 2 6T &S &6od  SIHSHGHS  &6voIld
sTeTIL@LD. @&emenr P(A) eteord @Misgeonid. oigmeud P(A) = {B
:BC A} A eetim sewigSHevienen o miLiseNedr sTenicnneens n
sTesNed P(A)-6b 2 6item 2 mitiGeMedt eTevuiemnémns 2" oy @Lb.
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gwefll ueoysen (Identity)
= AUD=A
= ANU=A

al'_a,smj uevor&6im (Absorption)
AU ANB)=A

A(\IAUB‘ A

§W&F] CaumurL (B ueoryser (Symmetric Difference)
AAB=BAA "
(AAB)AC= AA(BAC)

AN C M M &

&
&

QaeuQeuctiTemn S (GewrmiseT (Cardinality)

& A wmmib B ¢tmild 61he Q@ (Plgeml SHERISELSGD, N(A L
B) = n(A)+n(B) — n(AM B)

& A womib B guflieney QeulLrs seaumistersiey, n(ALU B) =
n(A)+n(B)

& A, B opmitb C ¢TeIld 61hG CLOETMI SH60THIS Erh &G LD,
n(AUBUC) = n(A) + n(B) + n(C) - n(AnB) - n(ANC) -

n‘BmC|+n‘AmBmC|



RADIAN IAS ACADEMY Ph-98403 98093 www.radianiasacademy.org

S)

6)

7)

(viyn (B-A) ={2, 4,6, 8, 12}
n(B-A) =4
A B aaoim Q@@ saumse WweommGw 13 womiw 16
2 MIUYSement QUM (BHHS 6L, A UB Qumomeiter
GODHFHLL & LMHMILD SHHLULF 2_miuyseflesr
6T 600T 6001560 & 6MIS & ITEI0TS.
ellen&sLomer allenL:
n(A)=13,n(B)=16,n (A NB)= ¢
n(A UB)=7?
n(A UB)=n(A)+n (B)eefléo n (A NB)= ¢
=13+ 16
=29
GODHGLULE 2 MILILSHET6T sTeuemnsemns = 16
IHSULE 2 mILILGaNeT cTetoren&ens = 16 + 13 = 29
n(A NB)=5,n(A UB)=35,n (A) =13 ereflev n (B) smevurs.
ellen&sLomenr allenL:
n(A NB)=5
n(A UB)=35
n(A)=13
nB)="?
n(A UB)=n(A)+n(B)-n(A NB)
35=13+n(B)-5
8+n(B)=35
n(B)=35-8
n (B) = 27
n (A) =26, n (B)=10,n (A WB) =30, n (A’) =17 erefléb n (A
MB) oMb n (V) &Mesus.
ellen&sLomenr allenL:
n(A) =26
n(B)=10
n(A UB)=30
n(A)=17
()n(A UB)=n(A)+n(B)-n(A NB)
n(A NB)=n(A)+n(B)-n(A UB)
=26+10-30
=36-30
6
n(A)+n(A)
26 +17

n(A MB)
(iyn (W)
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F = smeoung eflememunBd Lomewieuj&efest &euod e16s1dh, n(F) =
300
V = emslunhg efenenum(Bd Lomesurefsenler Sl 6161s, n(V)

=270,

n(FNV)=120

(i) smebubHE LD eNememUTEBLD LOMsToTe[F&H6eM6dT 6T6T01650T 856018
=300-120 = 180

(i)  eoslUBSHEH WLLEL  almenur®n  msTeUf&eMson
cTevuienen&emng = 270-120 = 150
(iii) uemafuled o 6o QLOMSS LOMETUTEUTSHATEIT 6T6T0T60UNSH6MIS
=300 - 120 + 120 + 270 - 120 = 570 - 120 = 450

10)ee@m Gaiaild 150 wHEUTUIHET JPMUHVD  316LEVLF)
satflgs5dled (pFHL uGLY LHUQAUEITSET  CQUMHMIETETETI.
Qeaujseafled 50 wraaUfHeT Mo WHMID &6l

@eungepId (PHL euGLY WHUQUeISET QummieTenery. 115
LOTEOOTEUT&H6T  SHeuoNHHHL (PHL eUGLLY  LOHLIGILI6wT &6
Qummieiteneury.  gpmuflevHHlev WLEL  (WHL  uGuY
L SILCILETI QUMM LOTEIITEUT&HET 6TSHGemenr GUIj?

aflen&somen allenL:

M = saMgsHHed (NGO euUGLIL QUHM LOMETITEUTS66T  &6uoILh
6T6018.

E = mflegHed (G0 U@L QUMM  LOTETTT6UTHerl6  &6uoTLd
616018

M E U
150-

=100

n(M)=115
n(E) =x
n(M NE)=50
SYRIKVGHCELT I6L6VG &HNGHHHGCELT 6LVG @6toriq.enGLD
WL UG 61(H&S LOMEuuTeNf&6MN6T 6160016081 &H6m 8
n(M UE)=115+x-50
150 =115+ x - 50
150 =65 + x
x=150-65 = x=85
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U =2 5 CU&aLIUT&EMNET &H6U0ID 6T60T8.

28=n(T-U)

20=n(U-T)

n(TMU)=x

n(TUU) =060

n(TUU)=n(T-U)+n(TNU)+n(U-T)

60 =28 +x +20

60 =48 +x

X = 60-48

x=12

SO WOMID 2 (HhG Qevigemerujd CUEHD GHLOURIGHT = 12

13)spp uemefluiléd 150 mewTEUISH6T USHHMTD 6uGLY GCHeiley
Cayeflu Qummieterery. @eujsefled GsvBlenev au@Litled 95
LD IT 630T 6L [] & 61T Nifley -8® el grysHer 82
LD IT 6507 6U11] & 61T Nifley -5 6l 6vor 6voT LI & & ITI] & 61T 20

LOIT 60T 611} & 61T Aeuail(mp feyseflev THMSG
allagnaulissallsosnen  erafllsd  Qpean®  LNfleysEnsGLd
ellevor6mrLItG G LOMETTTEUTSHET 6T5HGHMETCLIT 6T60 S &IT600T 5.
eller&sLomer ailenL:

A=101ey |-&@ eNeuemliNgSHeUTSH6T HEWILD 6I6075.

B = 0fley 1-6@ eNGuewilNGgSeufeH6T ST 616018

A B 20

@ren® NfleysErs@n alsanliNgs LOTEaIfsHT = X
Nifley I = 95

Mfley | L @EW =95-x

Nifley Il = 82

Dfley Il L@ =82 —x

95 —x+x+82-x=150-20

95 +82-x=130

177 —x =130
177 — 130 =X
47 =X
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n(AwBUC)=n(A)+n(B)+n(C) — n(ANB)-n(BNC)-n(AN
C)Hn(ANBNC
16)‘n’ BUT&ET QBT @B G(Lel6L 6T5HE 6w 6wt

&GV SENSHET HemL QLMD GLD?
aflen&somen aflemL

NG, = n(n —1)

2
10 BUTSEHSHES QML GIILITET 608 &EVI&HEH6086M
NG, = n(n —1)

2

10(10-1)  10x9 _
2 2

17)® G(pallév 2 6TeT deeubleumHalbLD LODHAMITH L ILD
MEBGNVISEMTISHET. QG QLIEHSHD 66 08 G615 &6

10C, = 45

BeoLAuDMG| erevfléd G(paflev 2 6item Qs mHuUljsefedr
6T GO0T 60011 & 6M S 6MS S ITETTS.

allenssomen ailenL
nC2 =66

n(n—l):66

2

n(n-1) = 66x2

12(11) =132

G(edeleen BHLITSHaT6T eTeumemdHend 12.

18)w&5610GTmMS 5000 2 6item sp(h, HHTHHL HLHSLILL L (1
SansHAsG U, Qwmfl A Qgflbgeugsst 45%, Qumf B
Qsfbgeuiser 25%, Qumfl C Asfhgeuiser 10%, A wHM|D
B Qumflser Qgflhgeujser 5%, B wmmiw C Qumfblssr

Qafhseufsst 4%, A wHMIb C QumMser Q& Mhseu)ser
4% 94BWw. @Hev cparm AuMfsmeand AsRHHeuTsHeT 3%
ereefle, QoMM A I B AFAHSHUTSET THGHmen GLIf?
afler&somen allemL

Q&6UCEUGTITENLD CLOEVLD ST6Y SHIT6UoTE0
QampssUULL Leail efeugmseileddng n(A) = 5000-60 45%
= 2250
@Gy Gumestm)
n(B) = 1250, n(C) = 500, n(AMB) = 250, n(BMC) = 200, n(C
MA) =200 woHmib n(AN BMC) =150
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MBI, 24(2™7-1) = 2*x7
Aiheneouned Gy FrsHwssam k = 4 wHMID 2™ =7
SHGLD.
@seumed m-k = 3 e1601Gey m =7

22)n(A) = 10 wmmib n(ANB) = 3, erefled n((AN B)'mA)-g
SIT6T1 5.
ellen&somer aflsnL
(ANB)NA = (AUB)NA = (ANA) UB'NA)= ¢ UB'N
A) = (B'NA)=A-B.
6T6arGex N((A M B)I MNA)=n(A-B)=n(A)-n(ANB)=7

23)A = {1,2,3,4} wmmid B = {3,4,5 ,6} etesfleb n((A U B) x (AN B)
x (AAB))-2& sneus.
allerssLomen aillenL
n(AUB) =6, n(ANB) = 2 wpmib n(AAB) = 4
sterGey, n((AUB) x (ANB) x (AAB)) = n(AUB) x n(ANB) x
N(AAB)=6x2 x4 =48

24) © (A) eteugl A 6Tl UGS MUTHG&H 860015 H 606018
&MSSMe0, n(H ($ (9 ()-8 WHUDUS STevns.
allerssLomenr ailenL

P (P) smSHO @G 2-MIl 2. 6ETgMed O (£ () HewidHed
2' 2 MINUSEHD, P (P () Smugsed 2 2 MINLSEHLD
AM&GD. SgTaUG 4 2 MILLSET QHEGSLD.

25) Neireu(meucTeuMmMIeT B EHSHS SHHMBHSH &HIT600I5.
(YA={a, b} (i)B={1,2,3}(ii)D={p,q,r,s} (VVE=0
ellenssLomenr ailenL
(i) A @it 2 L semmmmisen G, {a}, {b}, {a, b}
A @61 SI(H5ESS6EILD
P(A) = {9, {a}, {b}, {a, b}}
(i) B @et1 2 L sewmmuset G, {1}, {2}, {3}, {1,2}, {2,3}, {1,3}, {1,2,3}
B @61 91(h5G 5 H6001LD
P(B) ={3, {1}, {2}, {3}, {1.2}, {2,3}, {1,3}, {1,2,3}}
(i) D @etr 2 Lseumiser G, {p}, {a}, {1}, {s}. {p.a}. {pP.r}. {p.s},
{a.1}, {a.s}, {r:s}, {p.a.r.s}
D @61 SI(55ESS60ILD
P(D) = {@, {p}, {a}, {r}, {s}, {p.a}. {p.1} {p.s}. {a.r}, {a.s}, {r.s},
{p.q.r.s}}
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X-Y={56,7-{5,7,9, 10} = {6}
Y-X={54%29,10}-{5, 6,7} ={9,10}
XAY = (X-Y) U (Y-X)
={6} U {9,10} = {6,9,10}
28)(i) n(A) = 25, n(B) = 40, n(AUB) = 50 wHmib n(B’) = 25
eresflév, n(A M B) wmmiw n(U).
(i) n(A) = 300, n(AUB) = 500, n(AMNB) = 50 wmHmiLd n(B’) =
350, eT687l6b N(B) mpmitd n(U).
ellen&somer aflsnL
(i) n(ANB) =n(A) + n(B) —n(AUB)
n(ANB)=25+40-50
=65-50=15
n(U) =n(B) + n(B’)
=40 +25=65
(if) n(U) = n(B) + n(B’)
n(AMB)=n(A) + n(B) — n(A U B)
n(B) =n(AUB) + n(ANB) - n(A)
=500 + 50 — 300 = 250
n(U) = 250 + 350 = 600
29)U ={x:x € N, x<10}, A= {2, 3, 4, 8, 10} wHmib B = {1, 2,
5, 8, 10} ereoflev, n(ALU B) = n(A) + n(B) - n(A N B) erciiLeng &
FAUTI&&.
ellens&Lomer ailemL
n(A)=5,n(B)=5
AUB={1,2,3,4,5,8, 10}, ANB={2,8, 10}
n(AUB) =7, n(Am B) =
LHS=nAUB)= L@
R.H.S =n(A) + n(B) -n(AN B)
=5+5-3=7 .
@ whmd 2 GOGHS
n(AUB) =n(A) +n(B) - n(ANB) qiewré sRNuUMTESLILLL G
30)U={1,2,3,...,10}, P ={3,4,5,6} bpmb Q={x : x € N, x <
5}, ereaflsL N(Q-P) = n(Q) — n(P M Q) eTaiTUemSHE FHUMTSHS.
ellens&Lomer ailemL
={x:xe N,x<5}={1,2,3, 4}
Q-P ={1,2,3,4}-{3,4,5, 6}
={1,2}
2 .0
4

n(Q-
n PNQ={3,4,5 6} N {12 3,4

P)
(Q)
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(PSIGCHTMeL TEEHZIUT MbhGeUTHeM6H TsvurenndHemns = R
SlemeCaMenen 1(h&GI6UT MhSeUTSeTNsT sTeusuneans = P
QeuaTuL SmsLl LeTURSS),

R P

0

(i) e1paIGamemev LB 1RSS! U WLMHGeUT&HeT = 12
(i) 1616y Gamemev LGB 6T(RHF U WMHEHeUT&HeT = 15
(iii) eu@LUILN6L 2 6iTem QDS G LDMEuTELUITSHENT60T 6T60UT600T 56018
n(A U B) = n(A)+n(B)-n(AM B)
=20+17-5 =32
33)epwm; HymwsHeierer 100 GOHbUMmsefe, 65 GHULUSH 6T

SUlpE  Qeusgrenernud, 55 @GELUSH T MhiHevs

QFWHSSHTHATILD UTHIGHMTTHET 6T6vflev,

(i) O OHMID YR QAFUIHSSHTENEHET @I6ToTenL LD,

(i) LD QFWISSSHT6T DL (HLD

(iii) gy mHev QFUIKSSHTET DL (HLD

allenssmen aflemL

SLODEF QEWIAG HeiT QUG & 63TM G GLhUS SleuserMest

cTeuuI6otN &H6m T 616018

REE  QFEWHSHTT  UMRIGHETD  GHLOUSSetgerfes

cTeuuisotN&end E 616015.

H5H1HMHL LweTLRSSH: n(ALUB) =n(A) + n(B) - n(ANB)

n(TUE)=n(T) +n(E) - (TNE)

() n(TNE)=n(T) +n(E) -n(TUE)
=65+55-100=120-100=20

SO  WwOHOD  YEE  QFUHSSTEHSHT  @IeUIsnL WD

QMRIGH6TD GELLUSSesen = 20

(ii)

T E

y

SO QFIHSSTET LG UMhGHSTD GHLUSSH6gHen = 45
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SatNgHHeL GCHIFH QumNg wreumeaursst = 100% - 50% = 50%
SMNeaNweded CgI&Fs QUM wreueaufsst = 100% - 70% = 30%
@Queinigeid CHFEH QuOTCHTT = 10%
n(MU S) =n(M) + n(S) —n(MN S)
=50% + 30% - 10% = 70%
GMOHEE epefeoneus GCHIFSH QUDTE  LDITETITEUT 66T
sgalpb=70%
GODHEE epeieoneud CHIFSH  QUDTE  LOMETITEUTSH 660
ggaigLd = 100% - 70% = 30%
30% =300
+100% = 22390 _ 1509
30

S GaIQeupHw Qmdg eeufserier eeausuilsms = 1000
LD IT 6307 6U11] & 61T

36)A wHmIb B gpflw @@ semuger n(A-B) = 32+x, n(B-A) =
5x wHmId N(ANB) = x etenr MHGTM6T. Q& GTailewewr
QeueiTUL LD cpevld GMISSHa . n(A) = n(B) erelled x @eor
LOEILIOLS SIT6UT5.
allen&smen aflemL

[ ° B
n(A-B) = 32+x, n(B-A) = 5x, n(AMB) = x
n(A) = n(B)

32+x+x = 5x+x

32+2x = 6x

4x =32
x=8
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